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Abstract

The objective of this study is to help the managers understand clearly about
the nature of their businesses and encourage the emgloyees to work in their jobs at the

most matching challenges.

For the research framework, there are 2 indeperdent variables that are
customer contact/customization and labor intensity. These 2 independent variables
will vary on the different in service industries. They are service factories (low
customer contact/customization and low labor intensity), service shops (low customer
contact/customization and high labor intsnsity), mass scrvices (high customer
contact/customization and low labor intensity) and professional services (high
customer contact/customization and high labor intensity). These 2 independent
variables have some ‘effects on 22 dependent variabtles that are management
challenges. They are marketing, making service “warm”, scheduling service delivery,
reacting to customer intervention in process, managing advancement of people
delivery service, attention to physical surrcundings, control of far-flung geographical
locations, managing demand to avoid peak and to promote off-peaks, managing fairly
rigid hierarchy with need for standard operation procedures, managing flat hierarchy
with loose subordinate-superior relationships, training, hiving, technological
advances, capital decision, maintaining quaiity, fighting cost increases, startup new
units, managing growth, scheduling ~workforces, scheduling service delivery,

employee wellare and work methods developmerit and control.

The researcher uses survey method. Two hundred and eighty questionnaires
were distributed to managers in four different types of service industries (service
factories, service shops, mass services and professional services). Each service
industries will be distributed 70 questionnaires equally. Tne data analysis that the

researcher uses is multiple regression.

The results indicate that there is a reclationship between management
challenges across various types of service industries and changz in degree of customer

contact/customization and labor intensity.



For service industries with low customer contact/customization that are
service factories and mass services. Marketing, managing flat hierarchy with loose
subordinate-superior relationships, technological advances, training, schedule
workforces and managing fairly rigid hierarchy with need for standard operating

procedures are the management that challenges for these service industries.

For service industries with high customer contact/customization that are
service shops and professional services. Scheduling service delivery, reacting to
customer intervention in process, managing advancement of people delivering
service, attention to physical surroundings, control of far-flung geographical
locations, startup new units, managing growth, gaining employee loyalty, hiring,
employee welfare, managing demand to avoid and to promote off-peaks, fighting cost
increase, maintaining quality and work methods development and control are the

management that challenges for these service industries.

For service businesses with high lebor intensity that are mass services and
professional services. There is 3 important management involved. The first one is
making service warm, attention to physical surrounding and managing advancement

of people delivering service.

For businesses that have low labor intensity that are service factories and
service shops. The management that challenges to them are managing flat hierarchy
with loose subordinate-superior relationships, capiral decision, technological advance

and fighting cost increase.

For service factories, the researcher recommends they to develop good
marketing and pay more attention to technologies because rmost of their jobs done by
machine. For' service shops, the researcher recommends they to gain more
information from the customers and use it in the process the same as professional
services. For mass services, the researcher recommends they to keep standard

operating procedures because it can help the customers recognize the business.



Management Challenges in Service Factories, Services
Shops, Mass Services and Professional Services

Chapter 1: Introduction
1.1 Background of the Study

1.1.1 Importance of Service Industry

It is generally accepted that the world is challenged by rapid changes in
technology, people, environment as well as the economic sector. All these factors
also have some effects on service industry. When we think of service, we will think
about many businesses such as fast food shop, restaurants, hair salons etc. How many
people will know clearly about it? . Service is frequently an intrinsic part of the
package of benefits offered to the customers. To distinguish its nature from goods,
services are characterized as intangible, impermanent, difficult to store, heterogeneous

and consumed at the point of production.

Besides, services have also been categorized as producer and consumer
services. Producer services would include services which are provided, for example,
by transport and communications, while consumer services are those which are
purchased and consumed by households and individuals, and there will include, for
example, health and educational services. The increase in demand for consumer
service is closely associated with the rise in the level of income and is, therefore,
income elastic. The growth of producer services tend to be closely associated with
the extension of the inter-industry division of labor, giving rise to the growth of such
industries as distribution, banking and insurance to service the needs of material

producers.

As an economy progresses toward a higher level of development, there is a

tendency for the service industry to assume greater importance.

1.1.2  Classification of Service Industry
The service industry has increased its importance from the past till today.
Therefore, numerous articles have appeared in both academic and practitioner-based

publications, which provide guidelines for effective management in services. Service



research had emphasized on service classification schemes. For example: Judd (1964)
classified services according to three categories: rental goods, owned goods and non-

goods services.

Moreover, there are many researchers such as Rathmal, Shostack, Sasser,
Olsen who had classified services in similar ways. Until the era of Chase (1981), the
way to classify services had changed. It had turned to the degree of customer contact.
In 1986, Schmenner proposed the service process matrix (SPM), based on three
characteristics of service delivery systems: labor intensity (that is a measure of how
hard a population is working. It is determined by three factors. The first is the labor
force participation rate, which is the percentage of people of working age who are in
the labor force. The second is the employment rate, the percent of all participants in
the labor force who are employed. The third is average hours worked, or the number
of hours the average employed person works in a week), customer contact (that is a
process describing the minimum level of contact actually needed to obtain service in

each instance.

Normally, there are 3 levels of contact, reflecting actual customer behavior as
it related to the core product. The first is high-contact service with whieh customers
visit the service faeility in person and are actively involved with-the service
organization and its personnel throughout service delivery. The second is medium-
contact services entailing- a lower degree of involvement with service providers. This
group is services in which customer visits the service provider's facilities but either do
not remain throughout service delivery or else have little contact with service
personnel. The third is low-contact services. It involves no physical contact between
customers and service providers), and service customization (involving fit and
alterability and is based on understanding the commonality and variability across
customers. Besides, it also means to build, fit or alter according to individual
specifications. The key is to fit to the customer's specification through either "green
field" (new) development--by making sure that a packaged solution fits the customer
very well and needs only minimal customization--or being able to easily configure a

solution from existing customizable assets and components).



By developing this classification, 4 different types of services had developed:
service factory (service with both low customer contact/customization and a low
degree of labor intensity), service shop (service with low labor intensity but high
customer contact/customization), mass service (are characterized by high labor
intensity in combination with low customer contact/customization) and professional
service (services involving high customer contact/customization as well as a high
degree of labor intensity). Then, in year 1990s, service classification frameworks have
continued to evolve by using this model. It had started from Mersha and Wemmerlov
(1990). Both of them also emphasized on degree of customer contact and developed
two-dimensional matrix based on rigid VS fluid service processes. In 1995, Kellogg
and Nie proposed a two-dimensional matrix, which connected the characteristics of
service-products with service-processes. The single common characteristics of all the
cited is that they are primarily conceptual or theoretical in nature. In another series of
studies, the research emphasized on managerial practices and performance from a

large number of service industries by Chase and Voss (1997).

1.1.3 Importance of Service in Thailand
According fo the Commercial Registration Statistics for the entire country's
(Thailand) newly established firms, we will see that service has become more

important for today's economy as shown in (Table 1).

Table 1.1: The newly established firms in Bangkok and Provincial Areas in 2001

Types of Business No. of lirms Registered capital Paid capital
(million hality {million balhn
Major Div. | : Agriculture, Hunting, Forestry and Fishing - - -
Major Div. 2 : Mining and Quarrying 99 §24.000 447.500
Major Div. 3 : Manufacturing 4 102.000 87,750
Major Div. 4 : Electricity Gas and Water 2.190 30.107.190 17.368.260
Muajor Div. 3 : Construction 14 17.942.030 1,646.280
Major Div, 6 @ Wholesafe and Retail Trade and Reslaurants 1426 3.559.930 2,123,950
and Hotel 7.941 36.309.640 15.975.140
Major Div. 7 : Transpert. Storage and communication 1.351 7.521.550 3.756.900
Major Div. § : Financing. Insurance. Real Estate and 3.533 25.053.330 15.638.280
Business Service 1.434 4.138.880 2.628.460
Major Div. 9 : Community Social and Personal Service 10 22.000 9.230
Major Div. 10: Activitics not Adequalely Define - - -
Total 18.359 125,580,530 59,681,750

Source: Data Analysis Subsection, Statistical Data Analysis Section, Business Documentation
Division, Ministry of Commerce, Data on January 24, 2001

Due to the data in Table 1.1, we will see that the business sector, especially,

service is the number one of the newly established firms when compared to the other



businesses. According to the number of the firms, we will see that hotel business is
the number one that is 7,941 firms. The second one is financing and the third is
electricity, gas and water. By this figure, we can be assured that today Thailand's
service sector is really increasing in its importance and has become the market leader

for the whole industry.

Table 1.2: Capital Increase Registrations Statistics in Bangkok and Provincial

Areas for the year 2000 '(January-])ecember)

Types of Business No.of | Previous capital | Increase capital Totai capital
firms {million baht} (miltion baht) (miltign baht)
Major Div. | : Aegriculture, Huming. Forestry and Fishing - - - -
Major Div. 2 - Mining and Quasrying 26 1.418.800 1.041.100 2.459.900
Major Div. 3 : Manufacturing 19 290.200 979.300 1,269,500
Major Div. 4 : Electricity Gas and Water 961 95,125,650 11.510.380 139.936.030
Major Div. § : Construction 10 7.388,130 20.929.990 28.318.120
Major Div. 6 : Wholesale and Retail Trade and 404 11,595.210 16,833,220 28.428.430
Restaurants and Hotel 2.446 39.642.500 78.284.650 137.927.150
Major Div. 7 : Transport, Storage and communication 280 16.800.980 11.513.890 28.314.870
Major Div. 8 : Financing. insurance, Real Estate and 1.038 106.401.160 93227970 199.629.130
Business service 262 3.548.200 4.998,530 8.546.730
Maior Div. 9 : Community Social and Personal Service 508 51.127.730 37.838.060 108.963.810
Major Div. 10: Activitics not Adequately Define - - - -
Total 5,957 333.638.560 330,157,110 683.795.070

Source: Data Analysis Subsection, Statistical Data Analysis Section, Business Docuimentation

Division, Data on January {2, 2001

When we look through the amount of capital increases in Table 1.2, the
business in service sector is also the number one. The top three businesses that can
increase in its capital are financing, hotels and community social and personal
services. As we see these figures, we can conclude that today business depends more
on services not manufacturing. Thus, the company that can survive in today' s
economy is the company that emphasis not only on quality products but also on

service.

1.1.4 Management Challenges in Service ‘

Management challenge is the quality of requiring the very best of one's
abilities and efforts. For an enterprise to survive, it must achieve its objectives in an
efficient fashion. In this regard, good management is often key to success of an
enterprise.  The great economist (Joseph A. Schumpeter, 1995) referred to
management and entrepreneurs as "the engine of growth". Admittedly, firms can fail
because of inadequate funds, improper marketing, incompetent product design, in

attention to quality, disregard for customer concerns, and exclusive attention on short-




term financial orientation all threaten to undermine the service sector of the economy.
Beside, they often fail because the basic management functions are performed poorly

or not at all.

For service management, it is a management approach in which management
procedures are geared to the characteristics of services and the nature of service
competition. Service management is also very much market-oriented approach.
Service management as a phenomenon includes the marketing aspect of business or of

any organization's customer relationships.

However, it is important to realize that the service sector could become as
vulnerable to foreign competition as has the manufacturing sector. The sound
management can be a major competitive advantage to a company or even a society.
All enterprises need competent, ethnical managers who will strive to make them more
productive. As the nature of competition in services has changed, service managers
also need to understand these new competitive dimensions in order to take-advantage
of opportunities to 1mprove service quality and performance, thereby creating barriers

to entry from foreign and domestic competitors.

1.2 Statement of Problems

Today, there are four main types of service businesses: that are service
factories, service shops,. mass serviceé and professional services. Generally, the
business owners always overlook these things. They do not realize about these
differences among these service classification schemes. Besides, each types of
service classification scheme also has different management challenges. Thus, it

causes a lot of problems in their companies.

As the business owners do not understand the nature of their businesses more
clearly, it is possible that they can use wrong methods to motivate their employees.
From tilié point, it can create a lot of costs to the companies such as higher level of
resignation due to the employees do not have enough challenges in their jobs. When

they resigned, it has created many costs for the companies such as selecting and

@



training costs, wasting investment from wrong decisions that should not be of concern

in their businesses and others,

Thus, it is important for businesspeople to realize and understand the nature of
their businesses and encourage the employees to work in their jobs at the most

matching challenges as you can find from this research's results.

1.3 Research Objectives

In order to solve the problems that occurred in these service sectors, this thesis
would examine the directions for improving the operation. At the same time, the
study also is to describe, to identify, and to examine the management challenges in

different type of services. The specific objectives of the thests are:

a To investigate how management challenges differ across four types of
service industries (service factories, service shops, mass services and
professional services) in terms of customer contact/customization and
labor intensity.

o To provide directions for improving quality, productivity and operating

efficiency.
1.4 Research Scope & Limitation

The scope of this study is limited to the management challenges in service
factory, the service shop, the mass service and professional service. This study is
based on the existing empirical analysis and some service management theories. This
study reveals the limitations of theoretical classification schemes. While theoretical
typologies provide an important intuitive model of the basic differences among
disparate groups, there are distinct limitations to their ability to capture all (or most)

differences among service firms.

This research also emphasizes on SPM framework. SPM is used as a basis for
study for several reasons. First, SPM classifies service based on the three dimensions

commonly associated with service operations. Second, SPM provides a detailed and



comprehensive list of management challenges (it is activities that we understand and
involve these elements that brings coordination or cohesiveness to the activity
associated with different types of service operations). Third, the SPM framework
expands Chase's customer-contact approach that has received wide citation in both

academic and practitioner literature related to service management.

By studying SPM, it can help the managers understand the management
challenges associated with different types of services. The result from this study can
help the management people understand the real life service operations and use it to
improve the service process and design. Besides, it also provides the direction for

improving quality, productivity and operation efficiency.

1.5 Significance

This research studies about the significance between management challenges
across various types of service with change in customer contact/customization and
degree of labor intensity. Besides, the researcher also studies the interaction between

both of them too. ‘By this study, it has provided the benefit to many fields.

¢ Policy maker

This research can help the policy makers understand the nature of real life
business operation and then get some directions for improvement: This also helps
them know deeply about the service and know its importance. By this way, the
government can launch the laws and regulations that can support this type of business.
On the other hand, it can indirectly help the economic of our country. For example:
The government can reduce tax rate for the service industries that emphasis on

importing the advanced technology or some materials to use in their businesses.

¢ Business

This research is directly of benefit to the service companies because this
research can help the owners, even the service manager, indeed to understand about
the way to run business. Besides, they can know the way to motivate their employees.
This can help the business owners not only to gain more money but also encourage

the workers to work well. At the same time, the workers also feel happy in their



works, as well, the company can reduce the number of resignation. This can save cost

for training people and other expenses.

¢ Academia

This research studies about the management challenges differ across four
types of service industries (service factories, service shops, mass services and
professional services) in terms of customer contact / customization and labor
intensity. To get the results from this research, it can be used by other researchers
included academic people as a part for supporting their further study about the service
management. Moreover, this research also provides some overviews about the nature

of service industries.



Chapter 2: Literature Review

Today, the nature of competition in services is changing because the forces of
deregulation and new technologies have been restructured in recent years. Therefore,
service managers need to improve service quality and performance, thereby creating

~ barriers to entry from foreign and domestic competitors. Competing on the traditional
dimensions of quality, price and availability will always be important. Due to these
changes in the environment, it is quite challenging for the service managers. There
are many issues involved in service operations management that are classification of

service industry, effectiveness in service management and management challenges.

2.1 Literature to Support the Framework
2.1.1 Classification of Service Industry

Generally, there are 4 types of service businesses that are service factories,
service shops, mass.services, and professional services. The characterization of these
tfour types of services can be used for comparing service processes in much the same
way that we compared processes across the manufacturing spectrum. This is
accomplished m Table 2.1. The various features compared there are placed into

various groups: service, process, customer-orientation, labor, and management.

Table 2.1: A service comparison
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Source: Christian Granroos, "The Service Concept." Service Management and Marketing. Massachuseties: Loxinglon Books,

1992.

2.1.2 Effective Service Management
The differences between services and goods must be reflected in how service
businesses formulate and implement business strategy, organize themselves, manage

their operations and human resources, and market their offerings. This part presents



v

and integrates the work of leading service management experts from a variety of
disciplines in order to stimulate theory building and research on service management
effectiveness across disciplines. The management models developed for
manufacturing cannot be extended to services without substantial modification. Thus,
the researcher has used this interdisciplinary perspective for managing service

organizations effectively. Figure 1 is provided to highlight this perspective.

Figure 1: Service management effectiveness

Strategic
Management

Organization &
Human resources
Management

Service
Management
Effectiveness

Operations
Management

Marketing

Source:David E. Bower, Richard B. Chase, Thomas G, Cummings and Associaltes, "Service Management Eifectivencss.” The
service management effectivencess: Balaneing strategy, Organization and Human resowrce, Operations, and Marketing, San

Francisco: Jossey. Bass Publishers, 1990,

Although the researcher is applying this framework to service organizations,
functional integration is a desirable feature of manufacturing organizations as well.
Service organizations are particularly dependent on functional integration. In turn,
marketing service is very much a human resource activity, because the quality of the
selection and training of services personnel spills over the affect customer's
perceptions of the quality of the service they receive. To manage service industries
effectively, it is based on four main elements: strategy management, marketing,

operations management, organization and human resource management.



e Strategy

Services are inherently multifunctional and consequently manager needs a
strategy, as opposed to a functional, orientation for managing and studying service
business. Strategic decision making in service organizations need to go beyond
concerns about external growth or markets to include strategic issues related to the
design of the service, the internal service system, and internal capacity constraints.
Making these strategic decisions need to be an interactive process, including
personnel from operations, human resource management, marketing and strategic

planning.

¢ Organization and Human Resource Management

Writing from an organization-theory perspective, a central focus is on the
social, relational aspect of the employees and the differing roles that employees play
within the organization.. The researcher (Benjamin Schneider, 1995) describes that
the organization can become more service oriented and presents selection and training
approaches that support a service orientation. Schneider also integrates the issue of
changing to a service orientation with the broader, more established literature of
organization development and strategic change. The researcher also gives important
to unique role of human resource management in service orgaunizations. The
organization needs to have skills, knowledge, and abilities required for working with
customer in different types of services and the officers need to review the implications
for recruitment, selection; training, control and evaluation, rewarding, and

development in order to manage the organization effectively.

e Opecrations Management

The new information and communication technologies -offer significant
benefits for service organizations. These new technologies typically increase the
speed and reliability of service transactions and enable service firms to offer a greater
range of mass-customized services with enhanced quality and efficiency. Service
productivity can be improved through the process of learning and experience typically

applied in manufacturing settings.



¢ Marketing

This part emphasizes the need for service businesses to view their exchanges
with customers as "relationships" rather than merely "transactions". Managing from
this relational perspective involves recognizing the social as well as the economic
aspects of exchange. Managing relationships is a means by which firms can
strategically differentiate’ themselves from others; it also results in customers being

not only attracted but retained as well.

To underline the necessity for an overall customer service orientation, we can
think of the systems design as a "CARE" package with four components:

Consistency, Attentiveness, Recoverability and Evaluation.

Consistency. One of the biggest difficulties to overcome in services is the
fact that, from the customer's perspective, services are a risky purchase. Given the
nature of the service production process, there is little assurance that the quality of the
service will be the same from time to time. Standardized service delivery systems,
such as fast-food chains, owe much of their success to the fact that the service product

is relatively predictable both in the food preparation and in the timing of delivery.

The basic tools of the operations analyst to enhance production efficiency can
be used to ensure predictable production procedures. The end result needs to be a
service production process that is consistent over time, place, employee, customer,

and service product.

Attention must be paid to the development of standard service routines for
both back-office and front-office staff, supplemented by training to ensure proper
"technical" service quality. In addition, since the decoupling of production and
consumption increases the degree of control that management can exercise over the
production process, new opportunities for decoupling need to be identified that will

allow additional service functions to be moved into the "back office”.

For more complex service delivery system, care must be taken to ensure not
only clear routines within tasks but also the smooth linking between tasks and/or

departments. Such an internal service orientation involves having employees or



departments view each other as "customers" in order to enhance "integrative" service

quality.

For front-office staff, there are additional considerations beyond
standardization, especially where the degree of divergence is great. Staff members
who regularly interact with customers are valuable marketing asset as well as the
primarily service providers. In their marketing role, the "emotional labor" content is
high, resulting in a potential for feeling a lack of control and in a heightened
propensity for "burnout”. Thus, the human resource management issues for front-
office staff become particularly acute'as the need for consistency of interaction with

customers must be weighed against the realities of human emotions.

The role played by the customer also needs careful attention. Frustration for
both the customer and the employee can result where the behaviors needed from the
customer are unclear to the customer. "Boundary-spanning" employees need to have
built into their job descriptions the responsibility for "socializing" the customer to

required behaviors.

Attentiveness. Basic to any successful service is the quality of the interaction
with the customer, of the "functional” quality of the service. While aspects of the
interactive style must be specific to the particular competitive strategy, theve are basic
employee behaviors linked to customer satisfaction across a wide variety of services

and business strategies.

Generalized friendliness, especially out of context, may be interpreted by the
customer. Attentive behavior needs, rather, to be specific and relevant to the task at
hand. Successful service firms, such as Disneyland, have learned the importance of
codifying and training employees in such basics as the specific verbal and non-verbal

behaviors that denote courtesy, helpfulness, and respect to customers.

One specific dimension worth noting is the importance to customers of the
sense of "uninterrupted" service delivery. Once the service process begun, customers

value being able to retain the employee's attention until service has been completed.



Recoverability. Crisis management skills are particularly important in
services where environmental uncertainty is typically high. Unfortunately, many
managers assume that careful system design will result in a problem-free delivery
Systerﬂ. In actuality, problem situations provide a service firm with an opportunity to
excel-with careful planning. Despite the inconvenience of the problem, customers are
likely to feel even more favorably toward a firm that they view as having done

everything humanly possible to minimize difficulties from problem situations.

Given the variability of customer input as well as other externalities, it is
crucial to devise an "early warning system" that will help spot likely problems before
they occur so that preventive measures may be taken. For example, airlines can create
alternate plans for passenger transport when labor strikes are threatened or serious
weather disturbances are predieted, just as hotels can schedule extra staff or ensure
that all preventive maintenance is completed in anticipation of ‘conventions or tour

groups.

All staff responsible for customers need problem-solving skill training to help
identify both problems that occur and the particular reasons for customer
dissatisfaction. In order to offer effective solutions, for example, staff must be able to
differentiate between a customer who feels merely annoyed and one who feels
victimized. If a flight delay causes missed connections, for example, one passenger
might be satisfied with a free ticket for a later direct flight while another would be
more satisfied with the inconvenience of a more circuitous routing in order to arrive in

time.

Evaluation. A common issue among service firms is the failure to qualify
behavioral expectations in ways that can be measured and rewarded. American
Alirlines owes some of its success to its attention to measurable objectives, ranging
from how quickly the phone should be answered through how quickly the beverage
service should begin after flight takeoff to how quickly the plane door should be

opened once the plane is parked at the airport gate.

Singapore's Changi Airport is another example of the consequences of
gap & P P

specifying performance requirements. To the delight of the weary traveler, it has



imposed strict time limits on the baggage-handling companies that are monitored by
computerized conveyor belts. If the companies wish to retain their contract, the first
bag must be on the belt within twelve minutes of the plane's parking at the gate, and

the last bag must be on the belt within twenty-five minutes.

A newer trend among service firms is to create "networks" in which a wide
range of services are available without diluting the focus of any one service firm in its
arena of expertise. Thus, the property buyer may select a realty firm in which he or
she has confidence, which in turn will provide the financing company, the title
company, the insurance company, and so on. Or the service firm may choose a
"service supermarket" approach in which boutique services are run-an approach
adopted by Sears so that its reputation as a retailer was extended to a range of services

such as finance, optometry, insurance and so on.

The most 1mportant innovation in service crisis management has been the
willingness to delegate authority in front-line staff so that they can improvise on the
spot. One of the most frustrating experiences for the customer is to battle through
corporate red tape simply to get the firm to correct its mistake. One U.S. bank has
been very successful, for example, by authorizing bank tellers to accept customers'
versions of what should have happened to their accounts, apologize, and promise an
immediate corvection. Follow-up research has shown that, in the vast majority of

instances, the customer was in fact right.

2.1.3 Challenges to Management

Let us look at the challenges to management that are implied by labor intensity
and interaction/customization differences (Figure 2). The service operation that is
more highly capital-intensive has to look carefully at (1) its capital decisions
regarding land, facilities, and equipment; and (2) technological advances that may
affect them. Capital-intensive processes often cannot easily augment capacity, so
demand must be managed to smooth any demand peaks and to promote the off-peak
times. The inflexibility of capacity also implies that scheduling service delivery is

more important for these process types.



Figure 2: Challenges for service managers
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Sounrce:Roger W. Schemenner, "Challenges to Management.” Service Operations Management.  Prentice-Iall [nternationad,

Inc., 1993,

For process types with high labor intensity, managing and controlling the
workforce become paramount. Hiring, training, methods development and control,
employee welfare, scheduling the workforce, and controlling what may be far-flung
locations are critical. If new units of operations are contemplated, their stat‘ttip may -

become a problem; managing the group of such new units can be difficult.

Service processes that have a low degree of interaction and customization face
a stiffer marketing challenge. They must try to make the service "warm" and exciting
even though they may not give the personal attention a customer might want.

Attention to the physical surroundings and the layout become more important. With a



low degree of interaction and with little customization, standard operating procedures
can safely be instituted. The hierarchy of the service organization itself tends to be

the classic pyramid, with fairly rigid relationships between levels.

As the service takes on a higher degree of interaction and customization,
management must deal with higher costs and more talented labor. Keeping costs
down and yet maintaining quality becomes a challenge. Talented employees need to
know how they can advance in the organization. The hierarchy of control tends to be
flat, with much less rigid relationships between superiors and subordinates. Keeping
workers bound to the firm with a high degree of consumer interaction also must react

to frequent consumer intervention in the process.

Naturally, there are some gray areas as one passes from low to high on either
dimension of this matrix, and this complicates the placement of selected services
within the matrix. For example: although fast-food restaurants are probably best seen
as service factories, the traditional restaurant is more problematic. Traditional
restaurants offer a higher degree of interaction and customization for the consumer,
and they are more labor-intensive than fast-food restaurants. They may be best
characterized as service shops, but they are fairly low in that quadrant, with al least

some gourmet restaurants arguably characterized as professional services.

2.2 Previous empirical research
The empirical research that the researcher study is the analysis of management

challenges in service factories, service shops, mass services and professional services.

The research reveals that there is a relationship between management
challenges across various types of service industries (service factories, service shops,
mass services and professional services) and change in the degree of customer

contact/ customization, labor intensity and its interaction.

There are 22 management challenges. The average scores for the 22
management challenges -for the four industries are equally important for all the
industries. Anyway, there are top 5 management challenges for each types of service

industries. For service factories, the most important management challenge is hiring.



The second one is maintaining quality. Work methods development and control is the
third. Making service "warm" and gaining employee loyalty are the fourth and the
fifth respectively. For service shops, the most important management challenge is
maintaining quality the same as professional service. The second one is technology
advance. The third is training the same as mass services. Fighting cost increase is the
fourth and the last one is work methods development and control. For mass services,
the most important management challenge is hiring. The second one is maintaining
quality. The third is training and making service "warm" is the fourth. The last one is
gaining employee loyalty. For professional services, the most important management
challenge is maintaining quality the same as service shops. Making service "warm" is
the second. The third is hiring, work methods development and control is the fourth.

The last one is training.

According to the result, the researcher notices that there are some management
challenges the important for all service industries. For example: maintaining quality.
Due to service is perceived as risky purchase to the customer. Thus, it is quite
challenge to the managers to maintain the service quality in order.to keep the
customers as well as the company's revenue. Hiring and training are also important
because the service providers are people who contact directly the customers. To get
good and qualified employees, the company has to have a good systematic to select
the employees. Making service "warm" is also crucial because it means repeating
purchase of the company. To survive in the service industries, the company needs to
develop and control the performance of the employee closely in order to sure that the

service will be satisfied by the customers.
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Chapter 3: Research Framework

This chapter presents the justification and explanation of how research

framework of management challenges in different types of service industries in this

study emerged. The concepts and theories followed what had been discussed in the

earlier chapter portraying establishment of dimensions, aspects and attributes on how

management challenges differ across various types of service industries with change

in customer contact/customization, labor intensity and their interaction. Later. the

support framework, research variables, research hypothesis and expected outcome are

presented.

3.1 Diagram of Framework: using Schematic Flow
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3.2 Definition of Variables

This study is to find correlation between the management challenges across
various types of service industries with change in customer contact/customization and
degree of labor. Besides, it also studies the management challenges that are affected

by the interaction of customer contact/customization and labor intensity.

The independent variables are labor intensity and customer
contact/customization. There are 22 management chalienges used as dependent
variables. They are marketing, making service "warm", attention to physical
surroundings, managing fairly rigid hierarchy with need for standard operating
procedures, fighting cost increase, maintaining . quality, reacting to customer
intervention in process, managing advancement of people delivery service, managing
flat hierarchy with loose subordinate-superior relationships, gaining customer loyalty,
capital decision, technological advances, managing demand to avoid peak and to
promote off-peaks, scheduling service delivery, hiring, training, work methods
development and control, employee welfare, scheduling workforces, control of far-

flung geographical locations, startup of new units and managing.

Table 3.1: Variables

INDEPENDENT DEPENDENT

VARIABLES VARIABLES SUB-DEPENDENT VARIABLLS
Labor intensity & Strategic «  Control of far-flung geographical location
Customer contact / Management - To locate a place that can lower the basic costs of
Customization goods  and services provided including access to

critical supplies/resources and fo customer.

»  Startup of new units
- To begin doing something that is quite new or hasn't
been done by the company.

« Managing growth
- The development of the physical size, strength, ete.
of a company over a period of time.

+  Capital decision
- To decide about the long-lasting goods that
facilitate developing and managing the finished
product.

+ Technological advances
- Trends and conditions through which technology is
significantly altering the nature of competition.
These new technologies place a competitive premium
on being able to quickly introduce new goods and
services into the marketplace.
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INDEPENDENT
VARIABLES

DEPENDENT
VARIABLES

SUB-DEPENDENT VARIABLES

Labor intensity &
Customer confact /
Customization

Strategic
Management

Aftention to physical surroundings

- Paying attention to cope with what are often
ambiguous and incomplete environmental data and to
increase their understanding of the general
environment.

Managing flat hierarchy with loose subordinate-
superior relationships

- The way to organize the employees of the company
that is not strictly controlled.

Operations

Management

Managing demand to avoid peak and promote off-
peak

- Ways of making service systems more flexible so
that production capacity can be quickly increased or
reduced as customer demands for preducts or
services vary,

Work methods development and control

- Production processes must be designed with the
customer in mind because it must be totally
committed to producing products and services of
perfect quality.

Managing fairly rigid hierarchy with need for
standard operating procedures

- To deal with the managerial aspects of business
activities standardizing such things asoperating
practices, procedures, and systems.

Maintaining quality

- The practice of continuously checking goods as
they are produced to make sure that their quality are
good enough.

Fighting cost increase

- When costs account for a large parl, companies are
challenged to utilize most, if not all, of their
productive capacity. [t is also an integrated set of
actions designed to produce products at lower cost,
relative to competitors, with features that are
acceptable to customers,

Marketing

Scheduling service delivery

- To manage the time effectively in order to help
employees understand how they spend their time and
ways that they might increase their productivity.

Managing advancement of people delivering service
- To develop and encourage the employees to
concentrate on their jobs and have continuous interest
in their activities.

Reacting to customer intervening in process

- Buyers are the key to successful early involvement
in the new product development process. These
individuals are available to assist design engineers to
develop new products.

Marketing

- is a total system of business activities designed to
plan, price, promote and distribute want-satisfying

products to target markets to achieve organizational
objectives,
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INDEPENDENT DEPENDENT SUB-DEPENDENT VARIABLES
VARIABLES VARIABLES
Labor intensity & Marketing Making service "warm"

Customer contact /
Customization

- To make customers feel pleasure and build long-
term satisfying relations with customers.

Organization &
HRM

Scheduling workforces
- It is involved in how the work is allocated in order
to make it effective.

Employee welfare

- Rewards that employees receive for being members
of the organization and for their positions in the
organization; usually not related to employee
performance,

Hiring
- To employ someone for a period of time to do a job.

Training

- A learning process that involves the acquisition of
skills, concepts, rules or attitudes to enhance
emplovee performance.

Gaining employee loyalty

- The ways to maintain employees to stay in the
compauies and pay all their energy and efforts to
work for the companies.

3.3 Hypotheses

The proposed research hypothesis following the research objectives are as follows:

Hoy:  There is no relationship between management challenges across various types

of service industries (service factories, service shops, mass services and

professional services) and change in the degree of customer

contact/customization.

Ha;: There is relationship between management challenges across various types of

service industries (service factories, service shops, mass services and

professional services) and change in the degree of customer

contact/customization.

Ho,:  There is no relationship between management challenges across various types

of service industries (service factories, service shops, mass services and

professional services) and change in the degree of labor intensity.
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Ha;:  There is relationship between management challenges across various types of
service industries (service factories, service shops, mass services and

professional services) and change in the degree of labor intensity.

3.4 Expected Outcome

Service Sector Management
Classifications Challenges
~ Control of far-Mlung geographical
Strategic Jocation (+) .
] Manageme - Startup of new units (+)
AnegemEnt B - Managing growth (+)
- Capital decision (-)
- Technofogical advances (-)
Service -
Factories
Operations - Managing demand (o avoid peak and
—4 Management  fe— | promote off-peak ()
. - Work methods development and
Service - control (+)
Shops
Labor intensity B'
Mass ]
Services Marketing S5 —
| 1208 2 cheduling service delivery (-)
Professional
Service —)
- Scheduting work forees (+)
Organization - Employee wellave (+)
L & - Hiring {+}
HRM _-| - Training (+)

This part will explain the expected outcomes of the relationship between
management challenges across various types of service industries (service factories,
service shops, mass services and professional services) and change in the degree of

labor intensity.

These companies emphasis on labor intensity, normally, the companies will
use labor or employee as a basis for operation. Thus, these companies will not pay
attention more on the capital decision that involves in land, building, machinery etc..
Moreover, the companies will not interested in the newly technological advances
because the companies give more attention to people. When the companies plan to

expand the businesses or open of new units even in near or far from the center, people
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are the first thing that the companies will concern. There are the management

challenges that involve in strategic management.

For the operations management, the companies will not concern much on how
to manage demand in peak and off-peak period. The companies use people, thus, it is
easy to control and manage during those periods that are opposite to the operation of
machine. The machine will produce the products at the same level even in peak or
off-peak periods. To run the business more effective, the managers should pay more
attention in work methods. At the same time, the managers have to develop the

employee's skill and always evaluate their performance.

To set schedule for service induétry, this is not concern much because the
service normally serves customers by using first-come-first-serve rule. However, the
managers also have to arrange the workers to work equally. Eventheless, the
managers have to hire qualified employees and train them in order to serve customer
well and meet or-excess the customer's expectation. To keep these qualified
employees, the companies need to set the welfare that satisfies the employees.

Service Sector : Management
Classifications Challenges

- Altention Lo physical

Strategic surroundings (=)

—— Mnnagcmcm m - Managing flat hierarchy with
leose subordinate-supertor

relatiguships ()

f"*‘""“f" .
Factories
Opcralions - Managing fairly rigid hierarchy with
et Management e need for standard operating
: procedures (-}
Service - - Maintaining quality (+)
Shops - Fiwlting cost increase (+}
Customer Contact/ 3
Customization
Mass - Ma"".gi"g aalyallccmcm ol people
e & delivering service (+)
ervices Marketing - Reacting to customer intervening in
_— - process {(+)
- Marketing (-)
- Making service warm (-)
Prolessional
Service =

Organization

bt & ewmons

- Ganing employee loyaity (+)

HRM
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This part will explain the expected outcomes of the relationship between
management challenges across various types of service industries (service factories,
service shops, mass services and professional services) and change in the degree of

customer contact / customization.

These service industries emphasis on contacting with the customers and trying
to satisfy the customer as much as possible. Thus, the business operations try to gain
information directly from the customers. As a result, the managers need not to pay
attention closely to the physical surroundings in order to know the customer's
performance. To serve the customer well, the managers also have to give some
authorize to the employee in order to serve the urgent need of customers as quick as

possible and satisfy them.

The companies emphasis on serving the customers as individual. Thus, it is
hardly for the companies to escape from the cost that will increase from this serving
type. Normally, people perceive service as risky purchase, the managers should try to

produce service at the same standard and maintain the quality of the service.

The companies can gain the information about the customers. Thus,
marketing is not much important to use as a tool to attract customers to use the
service. Moreover, the information that the managers get from the customers should
be used in the service process in order to make the customer more satisfy. Besides,
the information can help the employee develops some skills to match the need of
customers, The development process also has to pay for it. Thus, gaining employee
loyalty is important. If the trained-employee resigns, the company has to pay for

training cost again for the newcomers.

27



Chapter 4: Research Methodology

This chapter presents the research methods and procedure used in the study,

data source, data collection, data measurement and statistical treatment of data.

4.1 Data Source

Target respondents of this research are managers in four different types of
service industries: fast food (service factories), repair shops (service shops), retail
sales (mass services) and legal firms or traditional massage shops (professional

services).

Figure 3: Research Design Process

Research design is a process consisting of six issues.

Types of investigation: Causal

Purpose of the study: Descriptive

Extent of researcher interference: Partial interference to objects

Study setting: Non-contrived
< Unit of analysts: Individual
Time horizon of study: Cross-sectional

The researcher made use of causal because the researcher controls a variable
that is the respondents. The respondents have to be the manager in service industry as
mentioned above. For the purpose of study, the researcher uses descriptive and non-
parametric research.  Descriptive statistic is used to describe or summarize
information about the perception of population or sample on management challenges

variables. The non-parametric statistic is used to test the required research hypothesis

28



such as test of correlation among the variables. The extent of researcher interference,
the researcher uses partial interference to object because the researcher will let the
respondents do the questionnaire freely but if they have any confusion, the researcher
will help clarifying the question but do not guide them to answer. For study setting,
the researcher uses non-contrived because it is difficult to gather the people that have
everything the same as one another. The unit of analysis, the researcher uses
individual, as researcher will collect the data for one person per time. For the time
horizon of study, the researcher uses cross-sectional. As the reason for doing this

research is to get the result immediately, thus, longitudinal is not properly used.

4.2 Data Collection

The study examines the management challenges differ across various types of
service industries with change in customer contact/customization, labor intensity
included their interaction between both of them. The method that the researcher uses
to collect data is survey technique. It will be employed in this study to gather primary
data from the target population. For the sampling technique, the researcher uses non-
probability sampling. It isa technique in which units of sample are selected on the
basis of personal-judgement or convenience. The researcher applies judgment
sampling. It is a method that is often called a purposive sample; the sample elements

are handpicked because they are expected to serve the research purpose.

The researcher will start the survey by using the questionnaire during July to
August, 2001. The survey will be done around Bangkok arcas at the service

companies.

4.2.1 Target Population

The target population of this thesis is managers in four different types of
service industries that are in Bangkok area. The researcher will collect 70
respondents from service factories that are fast food shops. Another 70 respondents
from service shops that are repair shops. For mass services, the researcher collects the
respondents from retail shops. For the last group, the researcher collects the
information from professional service shops that are legal firms, wedding studio and

traditional massage shops.
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Population element and sampling unit in this research is the same because it

consists of service managers in four different types of service industries.

4.2.2 Sampling Frame

A sampling frame is the list of sampling units from which a sample will be
drawn; the list could consist of geographic areas, institutions, individuals or other
units (Gilbert A. Churchill, JR., 1996). In this study, sampling frame is not available
because the researcher cannot obtain the name lists of all service firms in service

industries.

4.2.3 Sampling Size

Since this research applies non-probability sampling, there is no sampling
frame. Thus, the researcher has no need to calculate for samplesize. The researcher
has 280 respondents that are divided into groups of 70 respondents for each service
classification schemes: service factories (fast food shops), service shops (repair
shops), mass services (retail sales) and professional services (legal firms, wedding

studio and traditional massage shops).

4.3 Data Measurement
In this research, the researcher wants to test the attitude of the respondents
(service managers) towards the management challenges with changes in degree of

labor intensity and customer contact/customization including its interaction.

4.3.1 Scale

This research is to measure the attitude of the respondents. Thus, the
researcher decides to use Likert scale to collect the information from the respondents.
By using this method, it allows the respondents to express the intensity of their
feelings correctly. Each item in the questionnaire will ask about the management

challenges that the service managers need to use in their normal working lives.
4.3.2 Operationalization with questions

The questionnaire consists of 22 management challenges items. [t is used for

gathering data in relation to the topic of study. The type of questionnaire in the
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research is structured-undisguised questionnaire in which questions are presented in
the same wording and in exactly the same order to all respondents when collecting
data. The reason for standardizing the wording is to ensure that all respondents are
replying to the same questions. The Likert scale is used to collect the information. It
is one of the most widely used attitude-scaling techniques in marketing research. It is

particularly useful since it allows respondents to express the intensity of their feelings.

The questionnaire will be pre-tested with 10 people to test whether the
respondents understand the wording and sequencing of the questions. English jargons
will be translated into Thai words in order to make the respondents understand the

question easily.

The table below .illustrates the structure of the questionnaire used for

collecting the information from the respondents.

Table 4.1: The structure of the questionnaire

Independent Depeudent variables Question
variables no.
e Labor intensity | Marketing:
. - Marketing Question |
e Customer - SR ; ;
- Making service "warm" Question 2
contact/ 2 : : :
o - Scheduling service delivery Question 3
Customization | ; R A ;
- Reacting to customer intervening in process Question 4
- Managing advancement of people delivering service Question 5
Strategic management:
- Attention to physical surrcundings Question 6
- Managing flat hierarchy with loose subordinate-superior | Question 7
relationships
- Capital decision Question 8
- Technological advances Question 9
- Control far-flung geographical location Question 10
- Startup of new units Question 11
- Managing growth Question 12
Organization & HRM:
- Gaining employee loyalty Question 13
- Hiring Question 14
- Training Question 15
- Employee weifare Question 16
- Scheduling workforce Question 17
Operations Management.
- Managing demand to avoid peak and promote off-peak Question {8
- Managing fairly rigid hierarchy with need for standard
operating procedures Question 19
- Fighting cost increase Question 20
- Maintaining quality Question 21
- Work methods development and control Question 22
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This table illustrates the questionnaire used for collecting the information from

the respondents.

Table 4.2: Questionnaire used in the survey

No. Management challenge Strongly not Not Neutral Challenge Strongly
challenge challenge challenge
(0 (2) (3) (C] (5)

Qi Marketing

Q2 Making service "warm"

Q3 Scheduling service delivery

Q4 Reacting to customer inlervention in
process
Q3 Managing advancement of people

detivering service

Q6 Attention to physical surroundings

Q7 Managing flat hierarchy with loose
subordinate-superior relationships

Q8 Cupital decision

Q9 Technological advances

QLo Control of far-flung geographical

locations

Q11 Startup of new units

Qi2 Muanaging growth

Q13 | Gaining employee loyaity
Ql4 Hiring

Q13 | Training

QL6 | Employes weltare

Q17 | Scheduling worklorces

Q18 Managing demand to avoid peak and Lo
promuote off-peaks
Q1Y | Managing fairly rigid hicrarchy with

need lor standard operating procedures

Q20 | Fighting cost increases

Q21 Maintaining quality

Q22 | Work methods development and controt

Source:Rohit Verma, “An Empirical Analysis of Management Challenges in Service Factories, Service
Shops, Mass Services and Professional Services.” [llinois: De Paul University, 1998,

4.4 Data Analysis
4.4.1 Statistics used

For the study on management challenges management challenges differ across
four types of service industries (service factories, service shops, mass services and
professional services) in terms of customer contact/customization and labor intensity.
The researcher conducts ordinary least square linear regressions. [t is a statistical

technique used to derive an equation that relates the criterion variable to one or more

32



wary, Au

predictor variables. The main purpose of regression is to predict the value that a
dependent variable will take when the independent variables have particular value. It
also expresses the relation between the management challenges as dependent variable
and independent variables representing the four types of service industries. The

researcher applies the following formulas:

Y =at+fiXi+5:2X; te

where Y = the management challenges
X1 = the level of labor intensity
Xs = the level of customer contact/ customization
€ = the error associated with the observation
o = the intercept parameter in the regression equation
B = the coefficient of X,
B2 = the coefficient of X,

This study has more variables, thus, multiple regression is the-most widely
used method for conducting multivariate analysis. The researcher also makes use of
stepwise method with the help of statistical computer software - SPSS to find out the
solution. As the rescarcher uses the ordinary least square in this study, the following

tests will be performed.

. Coefficient of determination : Adjusted R- square (R%)
For the multiple regression model, the statistical significance can also be

analyzed by considering the value of R- square (R*) and Adjusted R - square (R%a).

The coefficient of determination, R?, indicates the possible values of the
measure range from "+1" to "0". At the one extreme, when R* = 1, the independent
variable completely accounts for variable in the dependent variable. All observations
fall on the regression line, so knowing X enables the prediction of Y with the error.
At the other extreme, where R? = 0, the independent variable accounts for no variation
in the dependent variable. The knowing of X is no help predicting Y, for the two

variables are totally independent of each other. Generally, R falls between these two
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extremes. Then, the closer R? is to 1, the better the fit of the regression line to the

points, and the more variation in Y is explained by X.

Adjusted R - square, on the other hand, is a value adjusted for the degree of
freedom and it will always be less than the value of R - square. Adjust R - square is
designed to compensate for the optimistic bias of R®. It is a function of R? adjusted by
the number of variables in the model and sample size. The test will be compensated

in SPSS program.

o T -test
T - test will be conducted for all independent variables, subject 95%
confidence level. The relationships will be tested in a single model, which includes

the following null and alternate hypotheses.

Hoy:  There is no relationship between management challenges across various types
of service indusfries (service factories, service shops, mass services and
professional services) and change in the degree of customer
contact/customization.

Ha,;:  There is relationship between management challenges across vatious types of
service industries (service factories, service shops, mass services and
professional services) and change in the degree of customer

contact/customization.

Hos:  There is no relationship between management challenges across various types
of service industries (service factories, service shops, mass services and
professional services) and change in the degree of labor intensity.

Hay:  There is relationship between management challenges across various types of
service industries (service factories, service shops, mass services and

professional services) and change in the degree of labor intensity.
The null hypotheses state that management challenges have no relationship

with the independent variables. To reject null hypotheses mean the management

challenges have relationship with the independent variables.
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¢ JF -test

To test the validity of model for the relationship of management challenges

and independent variables, F- test is very important, indicating that the simultaneous

test that each coefficient is 0, it is rejected.

It is conducted to test whether the

regression equation is valid statistically. The 95% confidence level is used.

Ho:
Ha:

Br = B2 = o

Ho is not true.

* Assumption of Ordinary Least Square (OLS)

Table 4.3: Assumption of Ordinary Least Square

What can go What are the How can it be How can it be
wrong? consequences? detected? corrected?
Multicollinearity:
Some of the independent. . No bias s, but No universally Drop redundant

variables are imperfectly

correlated.

Autocorrelation:
The ervor tetims for
different observations are

correlated.

Heteroskedasticity:
The variance of the error
term is not constant for

all cbservations.

estimates of the
separate effects of the

Xs are not reliable,

No bias (s, but the
variances of the Bs
increase {and t - scores
fatl) in a way not
captured by OLS.

Same as for

autocorrelation.

accepted rule or test
is available. Uset-

test or the VIF test.

Use Durbin-Watson
d test; if significantly
less than 2.5, positive

autocorrelation exist.

Put the spread or
contraction of the
residuals or use the
Park or Goldteid -

Quandt rests.

variables, but to drop
others might introduce
bias. A combination
variable may be useful,
but often doing nothing

is best.

If impure, add the
omitted variable or
change the functional
form. Gtherwise
consider generalized

least squares.

Ifimpure, add the
omitted variable.
Otherwise, redefine the
variables or apply a
weighted least square

correlation.

Sowrce: usimg ceconometrics. AH. Studenmund (1992)



Chapter 5: Results of the Study

This chapter represents the empirical results of the model presented in chapter
3. This part involves in research findings and analysis of the study. This chapter is
divided into 5 parts. The first part is the top 5 management challenges for each type
of service industries. The second part is the regression equation. The third part is the

result of the T-test, F-test, R* and adjusted R%. The fourth part is the validity of

ordinary least square (OLS). The last part is the interpretation of the result.

5.1 Average Management Challenge Scores for Various Service Industries

Table 5.1: Average management challenge scores for various service industries

Management challenges All SF SS MS PS
1. Marketing 3.35 4.33 2.26 4.24 2.59
2. Making service "warm" 3.60 2.83 247 4.26 A0
3. Scheduling service delivery 3.60 2.60 4.34 290 BAALY
4, Reacting to customer intervention in process 3.50 4.33 257 2.60
5. Managing advancement of people delivering 349, LAy 430 2557 2.64
service
6. Attention to physical surroundings Mobig) by 0 3.07 Hrdy 250
7. Managing flat hierarchy with loose subordinate- 3§54 2.89 4723 2.83 4.40
superior relationships
8.Capital decision 3.54 2.56 2.46
9. Technological advance 3.60 ; 2.57 2.59
10. Control far-flung geographical tocation 3.60 4.29 2.7% 2.76
11, Startup new units 2.61 ; 2.69
12, Managing growth 3155 2a 4.24 2.70
13, Gaining employee loyalty 3.56 e 2.79 2.56
14. Hiring el 277 Pt 2.87 o
15, Training Vil 3.09 4.43 2.79 o)
16. Employee welfare 3.48 4.26 279 4.39 2.50
17. Scheduling workforce 3.50 STl 240 2.54
18. Managing demand to avoid peak and promote
off-peaks ) 3.48 2.57 4.37 2.60 4.39
19. Managing flat rigid hierarchy with need for
standard operating procedures 3.47 4.39 2.50 2.60
20. Fighting cost increases 3.37 2:.51 4.10° 2.67 4.20
21. Maintaining quality 3.57 2.64 4.43 2.64
22. Work methods development and control 276 2.80 4.37

Source: Data file
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From the table of average management scores for various service industries,
the researcher noticed that there are top 5 management challenges for each service
industries. For service factories, the most important management challenges is
attention to physical surroundings. The second one is scheduling workforces. The
third is gaining employee loyalty. The fourth and the fifth are technological advance
and managing advancement of people delivering services. From the result, it could be
interpreted that the service factories pay more attention to physical surroundings
because this is a way to let mangers know the information about the customers. When
the environment changes, the behavior of the customers also changes. This service
industry uses machines to do most of works, thus scheduling workforces should plan
carefully. The managers have to tell the employees clearly what should they do,
otherwise, it will make the companies have lower productivity. Although the
companies use few employees, gaining loyalty from the employees is so important.
Nobody comes in the companies with no costs, thus, keeping them as long as possible
can help the companies save costs for hiring, training etc. Technological advance is
also crucial for this service industry because most of the works will be done by the
machines. If the managers gain more information about the technological advance, it
will benefit for the companies to use those technologies to develop in their works.
Managing advancement of people delivering service s important, Sometimes, the
machines are out of order, thus, the employees should develop themselves in order to

serve the customers the same as machine’s operation.

For service shoés, the top 5 management. challenges are technological
advances, startup new units, capital decision, work methods development and control
and hiring. From this result, the researcher can interpret that the companies in this
service type, repair shops, they normally use more tools and equipment for the
operation. Thus, making capital decision and technological advanced are directly
have some effects on the companies. The managers should find more information
about the technologies and consider which technologies can provide more benefits to
the companies. Making wrong decision about this, it will generate a lot of costs to the
companies in long run. Thus, these 2 management are challenges to the managers.
This service industry has high level of customer contact/customization, thus, hiring
people who provide services to the customers is important. The companies need to

hire the people that are good and have enough experiences to operate this job.
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Nevertheless, getting good people is hard to know. This has some effects on the
growth period because the companies need to hire the new employees to work for
them. This service industry also needs high development and control. Whatever the
employees serve the customers, it has some effects directly on the customers. If the
result is good, the customers will come and use the service again. If not, the company

will lose them forever.

For mass services, the top 5 management challenges are control of far-flung
geographical locations, reacting to customer intervention in process, scheduling
workforces, attention to physical surroundings, gaining employee loyalty and
managing flat rigid hierarchy with need for standard operating procedures. For
example of business that is in this type of service industry is retail store such as 7-
eleven. Thus, operating at the same standard are very important because the store has
to manage and create the same image to the customers and make their stores easy to
recognize. For employees, the managers have to set schedule for them. By setting the
schedule, it will make -the managers easy to evaluate the performance of the
employees. At the same time, the employees will know clearly about their works.
Due to this business has low level of customer contact/customization, the companies
try to gain the information about the customers through the changing environment.
After the companies got the information, the companies have to use it.to develop the
business to match to the customer’s expectation. Although, this service has low
customer contact/customization, gaining employee loyalty is erucial because high

level of resignation means high costs such as hiring, training etc.

There also have top 5 management challenges for professional services that
are startup new units, making service “warm”, managing quality, scheduling service
delivery, capital decision; scheduling service delivery, hiring, training, and managing
growth. To expand or open the new units for professional service is very hard
because the employee who work in this business, need to have high skills. Thus,
hiring and training process are very important in order to maintain the quality of
service that serves to the customers. Moreover, this business has high level of
customer contact/customization, thus, the employee should serve the customers with
good warmth manner. At the same time, scheduling service delivery is crucial

because all customers need service unequally. For example: legal firms, some
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customers have urgent case but some have not. Thus, the employees should make
good schedule in order to meet customer’s satisfaction. Although, the companies
have high labor intensity, capital decision also involves. From the example of legal
firms, the employees need to find some information about the case that they do or
need some suggestions, they may find these information through the use of internet or
video conference in case the they are in different places. Thus, the managers have to

think carefully whether it is worth.

From these top 5 management challenges of each type of service industries,
there is some management challenges that are overlapped. Those management
challenges are training, hiring, attention to physical surroundings, startup new units
and work methods development and control. The service industries need to have
good service providers. To help them serve the customer well, the companies need to
train them in the way that most of customers like or want. Nevertheless, the
companies should have good methods to select the employees first, otherwise, the
companies will waste the'money for training disqualified people. After the companies
got qualified employees and trained them, the companies should have good method to
develop and control them in order to assure that they will generate good service to the
customers. To make effective work development and control, the managers need to
pay attention to physical surroundings in order to know what is change and develop
them to match the customers. The service businesses need people to perform tasks,
thus to startup new units, the companies need to assure that the employees are good

enough and controllable, otherwise, the businesses may fail.

5.2 Regression Equation
To choose the variables to enter in the models, the researcher uses stepwise

method. By using stepwise method, there are 22 models can be applied for this study:

Model 1: Marketing
Y

it

o + Xy + €
6.150 - 1.864X,

Significance at 95% confidence interval. Number of observations is 280.

Where Cl = a constant

B2 = the parameters to be estimated
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the level of customer contact/customization

X
> = the error associated with the equation
Model 2: Making service "warm"
Y = a + PiXy+ e
= 1.193 + 1.607X,

Significance at 95% confidence interval. Number of observations is 280.

Where o = a constant
B = the parameters to be estimated
X = the level of labor intensity
€ = the error associated with the equation

Model 3: Scheduling service delivery
Y = o + BzXz FE0E
N 436 + 2.071X;

Significance at 95% confidence interval. Number of observations is 280.

Where o o a constant
B2 = the parameters to be estimated
X2 = the level of customer contact/customization
€ E the error associated with the equation

Model 4: Reacting to customer intervention in process
Y = fin T+ BzXz & €
0.686° + 1.964X,

Significance at 95% confidence interval. Number of observations is 280.

Where o = a constant
B2 = the parameters to be estimated
X = the level of customer contact/customization
g = the error associated with the equation

Model 5: Managing advancement of people delivering service
¥ = o + ﬁ)X] + PBaX2 + €
= 1.05 + 0.229X, + 1.486X;

Significance at 95% confidence interval. Number of observations is 280.
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Ty, Au

Where o = a constant
B = the parameters to be estimated
X1 = the level of labor intensity
Ba = the parameters to be estimated
X3 = the level of customer contact/customization
£ = the error associated with the equation

Model 6: Attention to physical surroundings
Y = o + X+ BXz + e
= 0.682 + 0.250X; + 1.693X,

Significance at 95% confidence interval. Number of observations 1s 280.

Where o B a constant
Bi = the parameters to be estimated
X = the level of labor intensity
B2 = the parameters to be estimated
X3 3 the level of customer contact/customization
€ = the error associated with the equation

Model 7: Managing flat hierarchy with loose subordinate-superior relationships
s = LA B]X] + X + %
= 6.450 - 0.157X; . 0.1771X%;

Significance at 95% confidence interval. Number of observations is 280.

Where o = a constant
Bi = the parameters to be estimated
X = the fevel of labor intensity
B2 = the parameters to be estimated
Xa = the level of customer contact/customization
£ = the error associated with the equation

Model 8: Capital decision
| Y = o ;31X; + £
6.136 - 1.784X,

Significance at 95% confidence interval. Number of observations is 280.



Where L = |

Bi =
X] =

a constant
the parameters to be estimated
the level of labor intensity

the error associated with the equation

Model 9: Technological advance

Y =

a + BiX) + X + e
6.896 - 0.407X; - 1.750%X,

Significance at 95% confidence interval. Number of observations is 280.

Where o =
B
X, =
B =
X2 &

E —

il

a constant

the parameters to be estimated

the level of labor intensity

the parameters to be estimated

the level of customer contact/customization

the error associated with the equation

Model 10: Control of far-flung geographical location

Y —

i

Ct.+[32X2+€

1.036 + 1.557X,

Significance at 95% confidence interval. Number of observations is 280.

Where o =

B2
X

il

€

Model 11: Startup new units

Y =

a constant
the parameters to be estimated
the level of customer contact/customization

the error associated with the equation

e = B2X2+€

0.793 + 1.850X%;

Significance at 95% confidence interval. Number of observations is 280.

Where o =

B =

Xz &

8 =

a constant
the parameters to be estimated
the level of customer contact/customization

the error assoclated with the equation



Maodel 12: Managing growth
¥ = o + P2X3 + €
= 1.107 + 1.671X,

Significance at 95% confidence interval. Number of observations is 280.

Where o = aconstant
B = the parameters to be estimated
X5 = the level of customer contact/customization
2 = the error associated with the equation

Model 13: Gaining employee loyalty
Y

I

o = ﬁzXz +'E
1.107 + 1.714%;

Significance at 95% confidence interval. Number of observations is 280.

Where o = a constant
Ba = the parameters to be estimated
X5 = the level of customer contact/customization
£ = the error associated with the equation

Model 14; Hiring
Y = sLadadieXy +£
= 1.543 + 1.393X%,

Significance at 95% confidence interval. Number of observations is 280,

Where o = a constant
B2 = the parameters to be estimated
Xy = the level of customer contact/customization
£ = the error associated with the equation

Model 15; Training
Y = @ + [Xe + €
= 6.000 - 1.679X;
Significance at 95% confidence interval. Number of observations is 280.

Where o = a constant

P2

the parameters to be estimated
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the level of customer contact/customization

fl

X3

™
I}

the error associated with the equation

Model 16: Employee welfare
Y

it

o A B2X2+8

0.793 + 1.793X,

Il

Significance at 95% confidence interval. Number of observations is 280.

Where o = a constant
B2 = the parameters to be estimated
X3 = the level of customer contact/customization
> = the error associated with the equation

Model 17: Scheduling workforces
Y g o Bng + e
6.236 - 1.843X%,

Significance at 95% confidence interval. Number of observations is 280.

Where o = a constant
B2 'y the parameters to be estimated
X = the level of customer contact/customization

> the error associated with the equation
Model 18: Managing demand to avoid peak and to promote off-peak
Y = o + PaXpt g
= 14 + 1.457X;

Significance at 95% confidence interval. Number of observations is 280.

Where o3 = a constant
B2 = the parameters to be estimated
X5 2 the level of customer contact/customization

£ = the error associated with the equation



Model 19: Managing fairly rigid hierarchy with need for standard operating procedure

Y

o + PaXs + €

6.257 - 1.836X%,

Significance at 95% confidence interval. Number of observations is 280.

Where o

B2
X2

€

a constant
the parameters to be estimated
the level of customer contact/customization

the error associated with the equation

Model 20: Fighting cost increases

Y

a + BX; By + o
6.425 + 0.150X; - 2.036X%X,

Significance at 95% confidence interval. Number of observations is 280.

Where o
Bi
Xi
B2
X2

£

a constant

the parameters to be estimated

the level of labor intensity

the parameters to be estimated

the level of customer contact/customization

the error associated with the equation

Model 21: Maintaining quality

Y

0L+B2X2+€

6.121 +1.679X;

Significance at 95% confidence interval. Number of observations is 280.

Where o
B2
X

g

It

il

It

a constant
the parameters to be estimated
the level of customer contact/customization

the error associated with the equation

Model 22: Work methods development and control

Y

CL+BQX2+€

6571 + 2.050X,

Significance at 95% confidence interval. Number of observations is 280.
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Where o = a constant

B2 = the parameters to be estimated
X = the level of customer contact/customization
€ = the error associated with the equation

5.3 F-test, T-test, R, R square and adjusted R-square
5.3.1 F-test
Table 5.2: F-test

Model Sum of Squares df Mean Square F Sig.
1 [Regression 243.289 1 243289 525.491 000
Residual - 128.707 278 463
Totai 371.996 279

a Predictors: (Constant), customer contact
b Dependent Variable: marketing

Under model 1,the F-test is 525.491 or P(F>525.491) = 0.000. Ho is rejected
and accept Ha because Significance = 0.000 < 0.05.
Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (marketing). From the hypothesis,
Ho: B1=B,=0

Ha:  Hois not true

Model Sum of Squares df Mean Square F Sig.
1 [Regression 180.804 | 180.804 363.719 000
Residual 138.193 278 497
Total 318.996 279

a Predictors: (Constant), labor intensity
b Dependent Variable: making service "warm"

Under model 2, the F-test is 363.719 or P(IF>363.719) = 0.000. Ho is rejected
and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (making service "warm"). From the
hypothesis,

Ho:  By=f=0

Ha: Ho is not true



Model Sum of Squares df Mean Square F Sig.
I [Regression 300.357 1 300.357 712.886 .000
Residual 117.129 278 A21
Total 417.486 279

a Predictors: (Constant), customer contact
b Dependent Variable: Scheduling service delivery

Under model 3, the F-test is 712.886 or P(F>712.886) = 0.000. Ho is rejected

and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has

a relationship with the dependent variable (scheduling service delivery). From the

hypothesis,
Ho: B1=p2=0
Ha:  Hois not true
Model Sum of Squares df Mean Square F Sigp.
1 [Regressien 270.089 ] 270.089 790.188 000
Residual 95.021 278 342
Total 36511 1 279

a Predictors: (Constant), customer contact
b Dependent Variable: Reacting to customer intervention in process

Under model 4, the F-test is 790.188 or P(F>790.188) = 0.000. Ho is rejected
and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (reacting to customer intervention in
process). From the hypothesis,
Ho: fB1=02=0

Ha: Ho is not true

Model Sum of Squares di Mean Square F Sig,
I |Regression 154.514 1 154.514 359.886 .000
Residual 119.357 278 429
(Total 273.871 279
2 {Regression 158.171 2 79.086 189.341 .000
Residual 115.700 277 418
Total 273.871 279

a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Managing advancement of people delivering service



Under model 5, the F-test are 359.886 and 189.341 or P(F>359.886),
P(F>189.341) = 0.000. Ho is rejected and accept Ha because Significance = 0.000 <
0.05.

Thus, this figure shows that there are two independent variables that have
relationship with the dependent variable (managing advancement of people delivering
service). From the hypothesis,

Ho:  Bi=p2=0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig,
I |Regression 200.604 1 200.604 401.806 .000
Residual 138,793 278 .499
Total 339.396 279
2 |Regression 204.979 2 102.489 211.204 .000
Residual 134.418 277 485
‘Total 339.396 279

a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Attention to physical surroundings

Under model 6, the F-test are 401.806 and 211.204 or PB(F>401.806),
P(I'>211.204) = 0.000. Ho is rejected and accept Ha because Significance = 0.000 <
0.05.

Thus, this figure shows that there are two independent variables that have

relationship with the dependent variable (attention to physical surroundings). From

the hypothesis,

Ho: B[ i B2= 0
Ha:  Ho is not true
Model Sum of Squares df Mean Square F Sig.
| [Regression 219.657 1 219.657 538.354 000
Residual 113.429 278 408
Total 333.086 279
2 |Regression 221.386 2 110.693 274.502 .000
Residual 111.700 277 A03
Total 333.086 279

a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Managing flat hierarchy with loose subordinate-superior
relationships

Under model 7, the F-test are 538.354 and 274.502 or P(F>538.354),
P(F>274.502) = 0.000. Ho is rejected and accept Ha because Significance = 0.000 <

0.05.



Thus, this figure shows that there are two independent variables that have
relationship with the dependent variable (managing flat hierarchy with loose
subordinate-superior relationships). From the hypothesis, '

Ho: Bi=pB2=0

Ha:  Ho is not true

Model Sum of Squares Df Mean Square F Sig.
1 Regression 217.889 1 217.889 488.184 000
Residual 124.079 278 .446
Total 341.968 279

a Predictors: (Constant), labor intensity
b Dependent Variable: Capital decision

Under model 8, the F-test is 488.184 or P(F>488.184) = 0.000. Ho is rejected
and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (capital decision). From the hypothesis,
Ho: [i=P.=0

Ha:  Ho is not true

Model Sum of Squares df Mean Square F Sig.
1 [Regression 214.375 1 - 254,375 412.737 .000
Residual 144.393 278 519
Total 3158.768 279
2 Regression 225.979 2 112,989 235.697 .000
Residual 132.789 277 479
Total 358.768 279

a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Technological advances
Under model 9, the F-test are 412.737 and 235.697 or P(F>412.737),
P(F>235.697) = 0.000. Ho is rejected and accept Ha because Significance = 0.000 <

0.05.

Thus, this figure shows that there are two independent variables that have
relationship with the dependent (technological advance). From the hypothesis,
Ho: {3] = ]32 = ()

Ha:  Ho is not true



Model Sum of Squares daf Mean Square F Sig.

[ [Regression —169.729 1 169.729 363.958 000
Residual 129.643 278 466
Total 299.371 279

a Predictors: (Constant), customer contact
b Dependent Variable: Control of far-flung geographical location

Under model 10, the F-test is 363.958 or P(F>363.958) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (control of far-flung geographical location).
From the hypothesis, ’
Ho: By =p2=0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig.
| |Regression 239,575 | 239.573 645.769 000
Residual 103.136 278 371
Total 342.711 218

a Predictors: (Constant), customer contact
b Dependent Variable: Startup new units

Under model 11, the F-test is 645.769 or P(F>645.769) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (startup new units).  From the hypothesis,
Ho: ﬁ | = Bz =0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig.
1 [Regression 195.557 | 195.557 428.793 .000
Residual 126.786 278 456
Total 322.343 279

a Predictors: (Constant), customer contact
b Dependent Variable: Managing growth

Under model 12, the F-test is 428.793 or P(F>428.793) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000 < 0.05.
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Thus, this figure shows that there is at least one independent variable that has
a relationship with the deiaendent variable (managing growth). From the hypothesis,
Ho: Bi=4=0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig.
I |Regression 205.714 i 205.714 669.992 .000
Residual 85.357 278 .307
Total 291.071 279

a Predictors: (Constant), customer contact
b Dependent Variable: Gaining employee loyalty

Under model 13, the F-test is 669.992 or P(F>669.992) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000,< 0.05.

Thus, this figure shows that there is at least one independent variable that has

a relationship with the dependent variable (gaining employee loyalty). From the

hypothesis,
Ho: B] = B2= 0
Ha:  Ho is not true
Model Sum of Squares df Mean Square F Sig.
1 [Regression 166.629 I 166.629 439.673 .000
Residual 105.357 278 379
otal 271.986 279

a Predictors: (Constant), customer contact
b Dependent Variable: Hiring

Under model 14, the F-test is 439.673 or P(F>439.673) = 0.000. Ho is
rejected and accept Ha because Significance = 0.000 < 0.05.
' Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (hiring). From the hypothesis,
Ho: Bi=p2=0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig.
| [Regression 197.232 1 197.232 513.979 000
Residual 106.679 278 384
Total 303.911 279

a Predictors: (Constant), customer contact
b Dependent Variable: Training
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Under model 15, the F-test is 513.979 or P(F>513.979) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (training). From the hypothesis,
Ho: Bi=p2=0

Ha:  Ho is not true

Model Sum of Squares df Mean Square F Sig,
1 [Regression 225.004 1 225.004 554.004 000
Residual 112.907 278 406
Total 337.911 279

a Predictors: (Constant), customer contact
b Dependent Variable: Employee welfare

Under model 16, the F-test is 554.004 or P(F>554.004) = 0.000. Ho is

rejected and accept Ha beecause Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (employee welfare). From the hypothesis,
Ho:  B1=p2=0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig,
1 [Regaression 237.729 1 237.729 569.518 .000
Residual 116.043 278 417
Cotal © 353771 279

a Predictors: (Constant), customer contact
b Dependent Variable: Scheduling workforces

Under model 17, the F-test is 569.518 or P(F>569.518) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (scheduling workforces). From the
hypothesis,
Ho: Bi=p2=0

Ha:  Ho is not true
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Model Sum of Squares df Mean Square F Sig.
1 [Regression 148.629 1 148.629 340.593 000
Residual 121.314 278 436
[Total 269.943 279

a Predictors: (Constant), customer contact

b Dependent Variable: Managing demand to avoid peak and to promote off-peaks
Under mode] 18, the F-test is 340.593 or P(F>340.593) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (managing demand to avoid peak and to
promote off-peaks). From the hypothesis,
Ho: B1=p2=0

Ha:  Hois not true

Model Sum of Squares df Mean Square F Sig,
I Regression 235.889 1 235.889 618.028 .000
Residual 106.107 278 382
Total 341.996 279

a Predictors: (Constant), customer contact
b Dependent Variable: Managing fairly rigid hierarchy with need for standard
operating procedures

Under model 19, the F-test is 618.028 or P(F>618.028) = 0.000. Ho is
rejected and accept Ha because Significance = 0.000 < 0.05.
Thus, this figure shows that there is at least one independent variable that has
a relationship with the dependent variable (managing fairly rigid hierarchy with need
for standard operating procedures).. From the hypothesis,
Ho: B =02=0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig.
1 Regression 290.089 i 290.089 883.226 000
Residual 91.307 278 328
Total 381.396 279
2 |Regression 291.664 2 145.832 450.179 .000
Residual 89.732 277 324
Total 381.396 279

a Predictors: (Constant), labor intensity

b Predictors: (Constant), labor intensity, customer contact

¢ Dependent Variable: Fighting cost increases
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Under model 20, the F-test are 883.226 and 450.179 or P(F>883.226),
P(F>450.179) = 0.000. Ho is rejected and accept Ha because Significance = 0.000 <
0.05.

Thus, this figure shows that there are two independent variables that have
relationship with the dependent (fighting cost increase). From the hypothesis,

Ho: Bi1=p2=0

Ha: Ho is not true

Model Sum of Squares df Mean Square F Sig.
I |Regression 197.232 1 197.232 429,154 000
Residual 127.764 278 460
Total 324.996 279

a Predictors: (Constant), customer contact
b Dependent Variable: Maintaining quality

Under model 21, the F-test is 429.154 or P(F>429.154) = 0.000. Ho is

rejected and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has

a relationship with the dependent variable (maintaining quality).  From the

hypothesis,
Ho: B] = {32 ={
Ha: « Ho is not true
Model Sum of Squares df Mean Square ) Sig.
| Regression 294.175 1 294,175 682.521 000
Residual ©119.821 278 431
Total 413.996 279

a Predictors: {Constant), customer contact
b Dependent Variable: Work methods development and control

Under model 22, the F-test 682.521 or P(F>682.521) = 0.000. Ho is rejected
and accept Ha because Significance = 0.000 < 0.05.

Thus, this figure shows that there is at least one independent variable that has

a relationship with the dependent variable (work methods development and control).

From the hypothesis,
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5.3.2 T - test

Ho:
Ha:

Bt =f=90

Ho is not true

Table 5.3: The estimation result by OLS estimation

Variables Coefficient T-statistic Significance
Constant 6.150 47.827 000
Customer contact -1.864 -22.924 .000
Dependent variable: Marketing

Variables Coefficient T-statistic Significance
Constant 1,193 8.953 000
Labor intensity 1.607 19.071 .000
Dependent variable: Making service "warm"

Variables Coefficient T-statistic Significance
Constant 0.436 3.552 000
Customer contact 2,071 26.700 .000
Dependent variable: Scheduling service delivery

Yariables Cocfficient T-statistic Significance
Constant 0.6806 6.206 000
Customer contact 1.964 28.110 000
Dependent variable: Reacting to customer intervention in process

Variables Coefficient T-statistic Significance
Constant 1.050 6.237 .000
Customer contact 1.486 19.233 .000
Labor intensity 0.229 2.959 .000
Dependent variable: Managing advancement of people delivering service

Variahles Coefficient T-statistic Significance
Constant 0.682 3.759 000
Customer contact 1.693 20.332 000
Labor intensity 0.250 3.003 .000
Dependent variable: Attention to physical surroundings

Variables Coefficient T-statistic Significance
Constant 6.450 38.992 .000
Customer contact -1.771 -23.339 .000
Labor intensity -0.157 -2.070 .000

Dependent variable

: Managing flat hierarchy with loose subordinate-superior relationship
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Variables Coefficient T-statistic Significance
Constant 6.136 48.598 .000
Labor intensity -1.784 -22.095 .000
Dependent variable; Capital decision

Variables Coefficient T-statistic  Significance
Constant - 6.896 38.237 000
Customer contact -1.750 -21.147 .000
Labor intensity -0.407 -4.920 .000
Dependent variable: Technological advance

Variables Coefficient T-statistic Significance
Constant 1.036 8.025 .000
Customer contact 1.557 19.078 000
Dependent variable: Control of far-flung geographical location

Variables Coefficient T-statistic Significance
Constant 0.793 6.888 000
Customer contact 1.850 25412 .000
Dependent variable: Starfup new units

VYariables Coefficient T-statistic Significance
Constant 1.107 8.675 .000
Customer contact 1.671 20.707 000
Dependent variable: Managing growth

Variables Coefficient  T-statistic  Significance
Constant 1.107 10.573 000
Customer contact 1.714 25.884 .000
Dependent variable: Gaining employee loyalty

Variables Cocfficient  T-statistic  Significance
Constant 1.393 11.972 000
Customer contact 1.543 20.968 000
Dependent variable: Hiring

Variables Coefficient T-statistic Significance
Constant 6.000 51.252 .000
Customer contact -1.679 -22.671 000
Dependent variable: Training -

Variables Coefficient T-statistic Significance
Constant 0.793 6.583 .000
Customer contact [.793 23.537 000

Dependent variable

: Employee welfare



Variables

Coefficient T-statistic Significance

Constant

Customer contact

6.236 51.071 .000
-1.843 -23.865 .000

Dependent variable: Scheduling workforces

Variables

Coefficient T-statistic Significance

Constant

Customer contact

1.400 11214 .000
1.457 18.455 .000

Dependent variable: Managing demand to avoid peaks and to promote off-peaks

Variables

Coefficient T-statistic Significance

Constant

Customer contact

6.257 53.593 .000
-1.836 -24.860 .000

Dependent variable: Managing fairly rigid hierarchy with need for standard operating procedures

Variables

Coefficient T-statistic Significance

Constant
Labor intensity

Customer contact

6.425 43.335 000
-2.036 -29.925 000
0.150 2.205 .000

Dependent variable

: Fighting cost increases

Variables

Coefficient T-statistic Significance

Constant

Customer contact

6.121 47.780 000
1.679 20.716 .000

Dependent variable

: Managing quality

Variables Cocfficient T-statistic  Significance
Constant 6.571 52.966 .000
Customer contact 2.050 26.125 .000

Dependent variable: Work methods development and control

5.3.3 R, R-square and Adjusted R-square
Table 5.4: R, R square and adjusted R-square

R R’ Adjusted R?

0.809 0.654 0.653

a. Predictors: (Constant) customer contact
b. Dependent Variable: marketing

)

R R? Adjusted R

0.753 0.567 0.565

a. Predictors: (Constant) labor intensity
b. Dependent Variable: making service "warm"



R R? Adjusted R?

0.848 0.719 0.718

Predictors: (Constant) customer contact
Dependent Variable: scheduling service delivery

R R? Adjusted R®

0.860 ’ 0.740 0.739

Predictors: (Constant) customer contact
Dependent Variable: reacting to customer intervention in process

R R’ Adjusted R?
0.751 0.564 0.563
0.760 0.578 0.574

Predictors: (Constant) customer contact
Predictors: (Constant) customer contact, [abor intensity
Dependent Variable: managing advancement of people delivering service

R R’ Adjusted R
0.769 0.591 0.590
0.777 0.604 0.601

Predictors: {Constant) customer contact
Predictors: (Constant) customer contact, labor intensity
Dependent Variable: attention to physical surroundings

R R* Adjusted R?
0.812 0.659 0.638
0.815 0.665 0.662

Predictors: (Constant) customer confact
Predictors: (Constant) customer contact, labor intensity
Dependent Variable: managing flat hierarchy with loose subordinate-superior relationships

R R’ Adjusted R

0.798 0.637 0.636

Predictors: (Constant) labor intensity
Dependent Variable: capital decision

R : R’ Adjusted R?
0.773 0.598 0.596
0.794 0.630 0.627

Predictors: (Constant) customer contact
Predictors: (Constant) customer contact, labor intensity
Dependent Variable: technological advance

R R} Adjusted R

0.753 0.567 0.565

Predictors: (Constant) customer contact
Dependent Variable: control of far-flung geographical location
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R R? Adjusted R*

0.836 0.699 0.698
a. Predictors: (Constant) customer contact
b.  Dependent Variable: startup new units
R R’ Adjusted R’
0.779 0.607 0.605
a. Predictors: (Constant) customer contact
b. Dependent Variable: managing growth
R R? Adjusted R*
0.841 0.707 0.706
a. Predictors: {Constant) customer contact
b. Dependent Variable: gaining employee loyalty
R R’ Adjusted R?
0.783 0.613 0.611
a. Predictors: (Constant) customer contact
b. Dependent Variable: hiring
R R? Adjusted R?
0.306 0.649 0.648
a. Predictors: {Constant) customer contact
b. Dependent Variable: training
R R’ Adjusted R
0.816 0.666 0.665
a. Predictors: (Constant) customer contact
b. Dependent Variable: employee welfare
R R’ Adjusted R?
0.820 0.672 0.671
a. Predictors: (Constant) customer contact
b. Dependent Variable: scheduling workforces
R R’ Adjusted R?
0.742 0.551 0.549
a.  Predictors: (Constant) customer contact
b. Dependent Variable: managing demand to avoid peak and to promote off-peaks
R R’ Adjusted R’
0.851 0.690 0.689
a. Predictors: (Constant) customer contact
b. Dependent Variable: managing fairly rigid hierarchy with need for standard operating procedures
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R . R’

Adjusted R?

0.872 0.761
0,874 0.765

0.760
0.763

Predictors: (Constant) labor intensity

b. Predictors: (Constant) labor intensity, customer contact
¢. Dependent Variable: fighting cost increases
R R? Adjusted R
0.779 0607 0.605
a. Predictors: (Constant) customer contact
b. Dependent Variable: maintaining quality
R R? Adjusted R?
0.843 0.711 0.710
a. Predictors: (Constant) customer contact
b. Dependent Variable: work methods development and confrol

5.4 Validity of Ordinary Least Square (OLS) Assumption

The results of assumptions of the ordinary least square are as follow:

Table 5.5: Validity of ordinary least square (OLS)

Durbin ~ Watson Variance Inflation Factor (VIF)

Plot spread

2.117 £.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: marketing
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2.245 1.006 Good form
a, Predictors: {Constant) labor intensity
b. Dependent Variable: making service "warm”
Durbin — Watsen Variance Inflation Factor (VIF) Piot spread
2,150 1.000 Good form
a.  Predictors: (Constant) customer contact
b. Dependent Variable: scheduling service delivery
Durbin -~ Watson Variance Inflation Factor (VIF) Plot spread
2.105 1.000 Good form
a.  Predictors: (Constant) customer contact
b. Dependent Variable: reacting to customer intervention in process
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Durbin — Watson Variance Inflation Factor (VIF) Plot spread
2.020 1.000 Good form
a. Predictors: (Constant) customer contact
b. Predictors: (Constant) customer contact, labor intensity
¢. Dependent Variable: managing advancement of people delivering service
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
1.384 1.000 Good form
a, Predictors: (Constant) customer contact
b. Predictors: (Constant) customer contact, labor intensity
¢.  Dependent Variable: attention to physical surroundings
Durbin ~ Watson Variance Inflation Factor (VIF) Plot spread
1.976 1.000 Good form
a, Predictors: (Constant) customer contact
b. Predictors: (Constant) customer contact, labor intensity
¢. Dependent Variable: managing flat hierarchy with loose subordinate-superior relationships
Durbin — Watson Variance Inflation Factor (VIF) Plot spread
2.029 1.000 Good form
a. Predictors: (Constant) labor intensity
b. Dependent Variable: capital decision
Durbin — Watson Variance Inflation Factor (VIF) Plot spread
1.773 [.000 Good form
a. Predictors: (Constant) customer contact
b. Predictors: (Constant) customer contact, labor intensity
¢. Dependent Variable: technological advance
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2.216 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: control of far-flung geographical focation
Burbin - Watson Variance Inflation Factor (VIF) Plot spread
2.405 t.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: startup new units
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2.284 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: managing growth
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Durbin - Watson Variance Inflation Factor (VIF) Plot spread

2.087 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: gaining employee loyalty
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2.281] 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: hiring
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
1.946 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: training
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2.335 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: employee welfare
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2316 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: scheduling workforces
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2.328 1.000 Good form
a.  Predictors: (Constant) customer contact
b. Dependent Variable: managing demand to avoid peak and to promote off-peaks
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2.036 1.000 Good form
a. Predictors: (Constant) customer contact
b. Dependent Variable: managing fairly rigid hierarchy with need for standard operating procedures
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
2310 1.000 Good form
a. Predictors: (Constant) labor intensity
b. Predictors: {Constant) labor intensity, customer contact
c. Dependent Variable: fighting cost increases
Durbin - Watson Variance Inflation Factor (VIF) Plot spread
1.980 1.000 Good form
a. Predictors; (Constant) customer contact
b. Dependent Variable: maintaining quality
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Durbin - Watson Variance Inflation Factor (VIF) Plot spread

1.968 1.000 Good form

a.  Predictors: (Constant) customer contact
b. Dependent Variable: work methods development and control

5.5 Interpretation of Result
Marketing: The result of the F-test shows that the F value = 525.491 and the
significance level equal to 0.000. This means that there is at least one independent

variable in the model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. Itis customercontact. The variable is negative.

The coefficient of the variable, aims to measure the relationship of the
customer contact and management challenge (marketing) variable, is negative and
significance at the five percent. From the result of the coefficient, it reveals that as
the level of customer contact increases, the management challenge in marketing will

be decreased vice versa,

The variables included in the equation, model 1, have the correlation ( R )
between them 0.809 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because 1t 1s closer to 1. The overall goodness
of fit of the model measured by R’ is 65.4%. _This means that the independent
variable can explain the changing of the dependent variable (marketing) 65.4%.
Another 34.6% are explained by other factors, which are not included in this model.

The adjusted R* is 65.3% is used to avoid bias that may occur from the optimistic.

From the result, it can be explained that management in marketing has the
relationship with the level of customer contact. The coefficient of customer contact is
significantly negative. This implies that while the level of customer contact increases,
the management in marketing will decrease in its challenge to the managers who work
for service companies vice versa. From this result, it is the same as expected

outcome.
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Due to businesses that have high customer contact, it will gain more
information about the customer, thus, it is quite easy for them to learn what customer
likes and gives service exactly to the customer's preference. Thus, the customer will
come to use service again and again. As a result, the marketing will not challenge

much to the business that has high customer contact/customization.

Making service "warm": The result of the F-test shows that the F value =
363.719 and the significance level equal to 0.000. This means that there is at least
one independent variable in the model that can explain the dependent variable (Table

5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is labor intensity. The variable is positive.

The coefficient of the variable, aims to measure the relationship of the labor
intensity and management challenge (making service "warm") variable, is positive
and significance at.the five percent. From the result of the coefficient, it reveals that
as the level of labor intensity increases, the management challenge in making service

"warm" will be increased vice versa.

The variables included in the equation, model 2, have the correlation ( R )
between them 0.753 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R* is 56.7%. This means that the independent
variable can explain the changing of the dependent variable (making service "warm")
56.7%. Another 43.3% dre explained by other factors, which are not included in this
model. The adjusted R? is 56.5% is used to avoid bias that may occur from the

optimistic.

From the result, it can be explained that management in making service
"warm" has the relationship with the level of labor intensity. The coefficient of labor
intensity is significantly positive. This implies that while the level of labor intensity

increases, the management in making service "warm" will increase in its challenge to
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the managers who work for service companies vice versa. From this result, it is not
the same as expected outcome. For example: retail store, Lotus, it has high level of
labor intensity. Although these employees do not contact with the customer directly,
sometimes, the customers may ask for goods with them. Thus, these employees also
needed to provide service for them with a good warm manner. This can be a way to
increase customer satisfaction and repeat purchasing for the future, Therefore,
making service "warm" is also challenge for the firms that has high level of labor

intensity regardless the level of customer contact.

Scheduling service delivery: The result of the F-test shows that the F value =
712.886 and the significance level equal to 0.000. This means that there is at least
one independent variable in the model that can explain the dependent variable (Table

5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). -~ There is one

variable included inthe model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship of customer
contact and management challenge (scheduling service delivery) variable, is positive
and significance at the five percent, From the result of the coefficient, it reveals that
as the level of customer contact increases, the management challenge in scheduling

service delivery will be increased viceversa.

The variables included in the equation, model 3, have the correlation ( R )
between them 0.848 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness -
of fit of the model measured by R? is 71.9%. This means that the independent
variable can explain the changing of the dependent variable (scheduling service
delivery) 71.9%. Another 28.1% are explained by other factors, which are not
included in this model. The adjusted R* is 71.8% is used to avoid bias that may occur

from the optimistic.
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From the result, it can be explained that management in scheduling service
delivery has the relationship with the level of customer contact. The coefficient of
customer contact is significantly positive. This implies that while the level of
customer contact increases, the management in scheduling service delivery will
increase in its challenge to the managers who work for service companies vice versa.

From this result, it is not the same as expected outcome.

As the employees have high contact with the customers, it means employees
gain more information about the customer. For example: Post office, the officer has to
know that what is the date that the customer wants the letter to be received by the
receiver. Thus, gaining information from the customer means the officer has to set
the good schedule of service delivery in orderto sure that the letter will be sent at the

exact date the customer wanis.

Reacting to customer intervention in process: The result of the F-test shows
that the F value = 790.188 and the significance level equal to 0.000. This means that
there is at least one independent variable in the model that can explain the dependent
variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship of customer
contact and management challenge (reacting to customer intervention in process)
variable, is positive and significance at the five percent. From the result of the
coefficient, it reveals that as the level of customer contact increases, the management

challenge in reacting to customer intervention in process will be increased vice versa.

The variables included in the equation, model 4, have the correlation ( R )
between them 0.860 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R is 74.0%. This means that the independent

variable can explain the changing of the dependent variable (reacting to customer
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intervention in process) 74.0%. Another 26.0% are explained by other factors, which
are not included in this model. The adjusted R* is 73.9% is used to avoid bias that

may occur from the optimistic.

From the result, it can be explained that management in reacting to customer
intervention in process has the relationship with the level of customer contact. The
coefficient of customer contact is significantly positive. This implies that while the
level of customer contact increases, the management in reacting to customer
intervention in process will increase in its challenge to the managers who work for

service companies vice versa. From this result, it is the same as expected outcome.

When the employees have high contact with the customers, they will get more
information about the customers. The information is very important for the firms to
improve the service and make customer more satisfy. Thus, reacting to customer

intervention in process is challenge to the manager.

Managing advancement of people delivering service: The result of the F-test
shows that the F value = 359.886 for customer contact and 189.341 for labor intensity,
the significance level equal to 0.000 for both variables. This means that there are both
two independent variables in the model that can explain the dependent variable (Table

5.2)

By analysis of the T-test, the researcher can get the variables that will be
included in the equation by using the stepwise method (Table 5.3). There are two
variables included in the model. It is customer contact and labor intensity. The

variables are positive.

The coefficients of the variables, aim to measure the relationship of customer
contact and labor intensity with management challenge (managing advancement of
people delivering service) variable, are positive and significance at the five percent.
From the result of the coefficients, they reveal that as the level of customer contact
and labor intensity increase, the management challenge in managing advancement of

people delivering service will be increased vice versa.



The variables included in the equation, model 5, have the correlation ( R )
between customer contact and managing advancement of people delivering service
equals to 0.751, for labor intensity and managing advancement of people delivering
service is 0.760 (Table 5.4). These figures mean there are relationship between
independents and dependent variables because they are closer to 1. The overall
goodness of fit of the model measured by R? is 56.4% for customer contact and 57.8%
for labor intensity. These mean that the customer contact can explain the changing of
the dependent variable (managing advancement of people delivering service) 56.4%
and labor intensity can explain 57.4%. Another 34.6% are explained by other factors
for customer contact and 32.6% cannot explain by labor intensity. The adjusted R’
are 56.3% and 57.4% for customer contact and labor intensity respectively are used to

avoid bias that may occur from the optimistic.

From the result, it can be explained that managing advancement of people
delivering service has the relationship with the level of customer
contact/customization and labor intensity. The coefficients of customer contact and
labor intensity are significantly positive. These imply that while the level of customer
contact/customization and labor intensity increases, the managing advancement of
people delivering service will increase in its challenge to the managers who work for
service companies vice versa. From this result, it is the same as expected outcome for

customer contact but it is not the same for labor intensity.

Managing advancement of people delivering service is also important for
businesses. The business that has high contact with the customer is necessary to have
qualified employees. The employee should be trained and improved continuously in
order to serve every customer at the satisfactory level. To improve the employees is
very difficult. Thus, improving a large number of employees is not an easy job. That
is why the managing advancement of people delivering service is so challenge to the

manager.

Attention to physical surroundings: The result of the F-test shows that the F
value = 401.806 for customer contact and 211.204 for [abor intensity, the significance
level equal to 0.000 for both variables. This means that there are both two

independent variables in the model that can explain the dependent variable (Table 5.2)
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By analysis of the T-test, the researcher can get the variables that will be
included in the equation by using the stepwise method (Table 5.3). There are two
variables included in the model. It is customer contact and labor intensity. The

variables are positive.

The coefficients of the variables, aim to measure the relationship of customer
contact and labor intensity with management challenge (attention to physical
surroundings) variable, are positive and significance at the five percent. From the
result of the coefficients, they reveal that as the level of customer contact and labor
intensity increase, the management challenge in attention to physical surroundings

will be increased vice versa.

The variables included in the equation, model 6, have the correlation ( R )
between customer contaet and attention to physical surroundings equal to 0.769, for
labor intensity and managing advancement of people delivering service is 0.777
(Table 5.4). These figures mean there are relationship between independents and
dependent variables because they are closer to 1. The overall goodness of fit of the
model measured by R? is 59.1% for customer contact and 60.4% for labor intensity.
These mean that the customer contact can explain the changing of the dependent
variable (attention to physical surroundings) 59.1% and labor intensity can explain
60.4%. Another 40.9% are explained by other factors for customer contact and 39.6%
cannot explain by labor intensity. The adjusted R” are 59.0% and 60.1% for customer
contact and labor intensity respectively are used to avoid bias that may occur from the

optimistic.

From the result, it can be explained that paying attention to physical
surroundings has the relationship with the level of customer contact/customization
and labor intensity. The coefficients of customer contact and labor intensity are
significantly positive.  These imply that while the level of customer
contact/customization and labor intensity increases, the attention to physical
surroundings will increase in its challenge to the managers who work for service
companies vice versa. From this result, it is not the same as expected outcome for

both customer contact and labor intensity.
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Paying attention to physical surroundings is important for businesses even
high or low in customer. contact and labor intensity but it differs in degrees of its
importance. For business that is high customer contact will have more important
because customers always change in their preferences. Sometimes, the employees
have not observed about these changes. Thus, paying attention to physical
surroundings can help the mangers know what is the trend of customers to be changed
and apply it to the business in order to make the business more success. DBesides,
paying attention to physical surroundings is necessary for businesses that have high
labor intensity. For example: during high material costs, the managers should tell
their employees and cultivate saving habits to them. If the managers do not pay
attention to physical surroundings, they will not notice about this higher cost that can
reduce their profit margins. . To make the employees recognize about the higher
costs, it is hard, especial[j/, a large group of people. Thus, it is quite challenge for the

managers to do this and always have to observe the changes around themselves.

Managing flat hierarchy with loose subordinate-superior relationships: The
result of the F-test shows that the F value = 538.354 {or customer contact and 274.502
for labor intensity, the significance level equal to 0.000 for both variables. This
means that there are both two independent variables in the model that can explain the

dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variables that will be
included in the equation. by using the stepwise method (Table 5.3). There are two
variables included in the model. It is customer contact and labor intensity. The

variables are negative.

The coefficients of the variables, aim to measure the relationship of customer
contact and labor intensity with management challenge (managing flat hierarchy with
loose subordinate-superior relationships) variable, are negative and significance at the
five percent. From the result of the coefficients, they reveal that as the level of
customer contact and labor intensity increase, the management challenge in managing
flat hierarchy with loose subordinate-superior relationships will be decreased vice

VErsa,
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The variables included in the equation, model 7, have the correlation ( R )
between customer contact and managing flat hierarchy with loose subordinate-
superior relationships equal to 0.812, for labor intensity and managing flat hierarchy
with loose subordinate-superior relationships is 0.815 (Table 5.4). These figures
mean there are relationship between independents and dependent variables because
they are closer to 1. The overall goodness of fit of the model measured by R* is
65.9% for customer contact and 66.5% for labor intensity. These mean that the
custonmer contact can explain the changing of the dependent variable (managing flat
hierarchy with loose subordinate-superior relationships) 65.9% and labor intensity can
explain 66.5%. Another 34.1% are explained by other factors for customer contact
and 33.5% cannot explain by labor intensity.  The adjusted R* are 65.8% and 66.2%
for customer contact and labor intensity respectively are used to avoid bias that may

occur from the optimistic.

From the result, it can be explained that managing flat hierarchy with loose
subordinate-superior relationships has the relationship with the level of customer
contact/customization and labor intensity. The coefficients of customer contact and
labor intensity are significantly negative. These imply that while the level of
customer contact/customization and labor intensity increases, the managing flat
hierarchy with loose subordinate-superior relationships will decrease 1 its challenge
to the managers who work for service companies vice versa. From this result, they

are not the same as expected outcome for both customer contact and labor intensity.

Managing flat hierarchy with loose subordinate-superior relationships will
decrease in its challenge for the businesses that have high level in both customer
contact and labor intensiiy because the managers feel that it is risk for the companies
to let the employees have more authorize and make all decision by themselves. To .
have high contact with the customers, making wrong deéision may make the
companies loose the customers. For high labor intensity, the managers will not give
more authority to them because more people means more conflicts between groups.
Thus, the manager will set rules and regulations for all employees in order to manage

the organization easily.
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Cuapital decision: The result of the F-test shows that the F value = 488.184 and
the significance level equal to 0.000. This means that there is at least one independent

variable in the model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is labor intensity. The variable is negative.

The coefficient of the variable, aims to measure the relationship labor intensity
and management challenge (capital decision) variable, is negative and significance at
the five percent. From the result of the coefficient, it reveals that as the level of labor
intensity increasgs, the management challenge 1n capital decision will be decreased

vice versa.

The variables included in the equation, model 8, have the correlation ( R )
between them 0.798 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R? is 63.7%. This means that the independent
variable can explain the changing of the dependent variable (capital decision) 63.7%.
Another 36.3% are explained by other factors, which are not included in this model.

The adjusted R? is 63.6% is used to avoid bias that may occur from the optimistic.

From the result, it can be explained that capital decision has the relationship
with the level of labor intensity. The coefficient of labor intensity is significantly
negative. This implies that while the level of labor intensity increases, the capital
decision will decrease in its challenge to the managers who work for service

companies vice versa. From this result, it is the same as expected outcome.

High labor intensity means people do the most of the company's work. Thus,
capital decision is not miuch concern for the managers who operate by using more

labor.

Technological advance: The result of the F-test shows that the F value =

412.737 for customer contact and 235.989 for labor intensity, the significance level
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equal to 0.000 for both variables. This means that there are both two independent

variables in the model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variables that will be
included in the equation by using the stepwise method (Table 5.3). There are two
variables included in the model. It is customer contact and labor intensity. The

variables are negative,

The coefficients of the variable, aim to measure the relationship of customer
contact and labor intensity with management (technological advances) variable, are
negative and significance at the five percent. From the result of the coefficients, they
reveal that as the level of customer contact and labor intensity increase, the

management challenge in technological advance will be decreased vice versa.

The variables included in the equation, model 9, have the correlation ( R )
between customer contact and technological advance equal to 0.773, for labor
intensity and technological advance is 0.794 (Table 5.4). These figures-mean there
are relationship between independents and dependent variables because they are
closer to 1. The overall goodness of fit of the model measured by R*is 59.8% for
customer contact and 63.0% for labor intensity. These mean that the customer contact
can explain the changing of the dependent variable (technological advance) 59.8%
and labor intensity can explain 63.0%. Another 40.2% are explained by other factors
for customer contact and 37.0% cannot explain by labor intensity. The adjusted R
are 59.0% and 62.7% for customer contact and labor intensity respectively are used to

avoid bias that may occur from the optimistic.

From the result, it can be explained that technological advance has the
relationship with the level of customer contact/customization and labor intensity. The
coefficients of customer contact and labor intensity are significantly negative. These
imply that while the level of customer contact/customization and labor intensity
increases, the technological advance will decrease in its challenge to the managers
who work for service companies vice versa. From this result, they are not the same as

expected outcome for customer contact but the same for labor intensity.
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For the businesses that people do most of their works, technological advance
is not much important for them the same as high customer contact/customization
businesses. Due to this business type, it has to serve the customer as individual. By
using technology for operation, it may cost a lot to company because the company has
to adjust the machine so often in order to produce service to each customer. Each
time to set up the machine, it means the company has to pay for set up cost and also
waste time. Thus, this management challenge, technological advance, is not

challenge for the managers.

Control of far-flung geographical location: The result of the F-test shows that
the F value = 363.958 and the significance level equal to 0.000. This means that there
is at least one independent variable in the model that can explain the dependent

variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3).  There is one

variable included inthe model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship customer
contact and management challenge (control of far-flung geographical location)
variable, is positive and significance at the five percent. From.the result of the
coefficient, it reveals that as the level of customer contact increases, the management

challenge in control of far-flung geographical location will be increased vice versa.

The variabies included in the equation, model 10, have the correlation ( R )
between them 0.753 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness .
of fit of the model measured by R* is 56.7%. This means that the independent
variable can explain the changing of the dependent variable (control of far-flung
geographical location) 56.7%. Another 43.3% are explained by other factors, which
are not included in this model. The adjusted R? is 56.5% is used to avoid bias that

may occur from the optimistic.



From the result, it can be explained that control of far-flung geographical
location has the relationship with the level of customer contact/customization. The
coefficient of labor intensity is significantly positive. This implies that while the level
of customer contact/customization increases, the control of far-flung geographical
location will increase in its challenge to the managers who work for service

companies vice versa. From this result, it is not the same as expected outcome.

As everyone knows, more people mean more conflicts and problems. Thus,
the managers have to pay more attention to the performance of the employees and set
some supervisors to take care all these people. In case that the employees work far
from the office, the manager will try to find some ways to control them for example:
assigning some people to take care them closely, checking often the employee's
performance etc. If the employees know that they stay freely not much control, they
will do what they want to.de. Thus, some events will occur such as strike, mob etc.

This is why managers feef challenge towards this aspect,

Siartup new-units: The result of the F-test shows that the I value = 645.769
and the significance level equal to 0.000. This means that there is at least one

independent variable in the model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship customer
contact and management challenge (startup new units) variable, is positive and
significance at the five percent. From the result of the coefficient, it reveals that as
the level of customer contact increases, the management challenge in startup new

units will be increased vice versa.

The variables included in the equation, model 11, have the correlation ( R )
between them 0.836 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness

of fit of the model measured by R” is 69.9%. This means that the independent
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variable can explain the changing of the dependent variable (startup new units)
69.9%. Another 30.1% are explained by other factors, which are not included in this
model. The adjusted R* is 69.8% is used to avoid bias that may occur from the

optimistic.

From the result, it can be explained that startup new units have the relationship
with the level of customer contact/customization. The coefficient of customer
contact/customization is significantly positive. This implies that while the level of
customer contact/customization increases, the startup new units will increase in its
challenge to the managers who work for service companies vice versa. From this

result, it is not the same as expected outcome.

When the businesses, that have high level of customer contact/customization,
plan to open a new branch. It is a heavy burden for the manager to think about this
because this service type needs to pay attention closely. Making something wrongs, it
will have an effect on the customer directly. Thus, it is quite challenge to the manager

to decide about this.

Managing growth: The result of the F-test shows that the F value = 428.793
and the significance level equal to 0.000. This means that there is at least one

independent variable in the:model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship customer -
contact and management challenge (managing growth) variable, is positive and
significance at the five percent. From the result of the coefficient, it reveals that as
the level of customer contact increases, the management challenge in managing

growth will be increased vice versa.

The variables included in the equation, model 12, have the correlation ( R )

between them 0.779 (Table 5.4). This figure means there is a relationship between
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independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R?® is 60.7%. This means that the independent
variable can explain thé changing of the dependent variable (managing growth)
60.7%. Another 39.3% are explained by other factors, which are not included in this
model. The adjusted R? is 60.5% is used to avoid bias that may occur from the

optimistic.

From the result, it can be explained that managing growth has the relationship
with the level of customer contact/customization. The coefficient of customer
contact/customization is significantly positive. This implies that while the level of
customer contact/customization increases, the managing growth will increase in its
challenge to the managers who work for service compapies vice versa. From this

result, it is not the same as expected outcome.

Having high contact with the customers, it means what the employees do with
the customers, the customers will get the result directly. In the period of growth, there
are many people come to use the service. It is crucial for the companies-to servé all
customers at the same standard level, not too much hurry. Otherwise, the companies
will lose its customers.

Gaining employee loyalty: The result of the F-test shows that the F value =
669.992 and the significance level equal to 0.000. This means that there is at least
one independent variable in the model that can explain the dependent variable (Table

5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship customer
contact and management challenge (gaining employee loyalty) variable, is positive
and significance at the five percent. From the result of the coefficient, it reveals that
as the level of customer contact increases, the management challenge in gaining

employee loyalty will be increased vice versa.
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The variables included in the equation, model 13, have the correlation ( R )
between them 0.841 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R? is 70.7%. This means that the independent
variable can explain the changing of the dependent variable (gaining employee
loyalty) 70.7%. Another 29.3% are explained by other factors, which are not included
in this model. The adjusted R is 70.6% is used to avoid bias that may occur from the

optimistic.

From the result, it can be explained that gaining employee loyalty has the
relationship with the level of customer contact/customization. The coefficient of
customer contact/customization is significantly positive. This implies that while the
level of customer contact/customization increases, the gaining employee loyalty will
increase in its challenge to the managers who work for service companies vice versa.

From this result, it is the same as expected outcome.

The ability to retain the customers depends on the quality that the employees
serve the customers. Thus, people who serve the customers should be the one who is
well - trained, good manner, service - hearted etc. For fraining these employees, the
companies have to pay for it. Therefore, it is important for the firms.to keep these
employees and gain loyalty from them because their resignation means cost for the

companies.

Hiring: The result of the F-test shows that the F value = 439.673 and the
significance level equal to 0.000. This means that there is at least one independent

variable in the model that can explain the dependent variable (Table 5.2)
By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship customer

contact and management challenge (hiring) variable, is positive and significance at the
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five percent. From the result of the coefficient, it reveals that as the level of customer

contact increases, the management challenge in hiring will be increased vice versa.

The variables included in the equation, model 14, have the correlation ( R )
between them 0.783 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R® is 61.3%. This means that the independent
variable can explain the changing of the dependent variable (hiring) 61.3%. Another
38.7% are explained by other factors, which are not included in this model. The

adjusted R?is 61.1% is used to avoid bias that may occur from the optimistic.

From the result, it can be explained that hiring has the relationship with the
level of customer contact/customization. The coefficient of customer
contact/customization is significantly positive. This implies that while the level of
customer contact/customization increases, the hiring will increase in its challenge to
the managers who work for service companies vice versa. From this result, it is not

the same as expected outcome.

This is quite similar to other management challenges that hiring is also
important to the higher level of customer contact/customization because whatever the
employee performs, it will effect on the customer. Thus, the companies will have

some procedures to screen the acquired employees in order to get the qualified one.

Training: The result of the F-test shows that the F value = 513.979 and the
significance levet equal to 0.000. This means that there is at least one independent

variable in the model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. Itis customer contact. The variable is negative.

The coefficient of the variable, aims to measure the relationship customer
contact and management challenge (training) variable, is negative and significance at

the five percent. From the result of the coefficient, it reveals that as the level of



customer contact increases, the management challenge in training will be decreased

vice versa.

The variables included in the equation, model 15, have the correlation ( R )
between them 0.806 (Ta‘bie 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R? is 64.9%. This means that the independent
variable can explain the changing of the dependent variable (training) 64.9%.
Another 35.1% are explained by other factors, which are not included in this model.

The adjusted R* is 64.8% is used to avoid bias that may occur from the optimistic.

From the result, it can be explained that training has the relationship with the
level of customer contact/customization. The coefficient of customer
contact/customization is significantly negative. This implies that while the level of
customer contact/customization increases, the training will decrease in its challenge to
the managers who work for service companies vice versa. From this result, it is not

the same as expected cutcome.

This result comes from the hiring process that is so complicate in order to get
the qualified employees, thus, training has declined in its importance even in the
service industries with high customer contact/customization. On the other hand, if the
companies that have lower level of customer contact/customization, they will not pay
more attention to the hiring process,  Thus, training will become important for the

new jobs.

Employee we[faré: The result of the F-test shows that the F value = 554.004
and the significance level equal to 0.000. This means that there is at least one

independent variable in the model that can explain the dependent variable (Table 5.2)
By analysis of the T-test, the researcher can get the variable that will be

included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is positive.
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The coefficient of the variable, aims to measure the relationship customer
contact and management challenge (employee welfare) variable, is positive and
significance at the five percent. From the result of the coefficient, it reveals that as
the level of customer contact increases, the management challenge in employee

welfare will be increased vice versa.

The variables included in the equation, model 16, have the correlation ( R )
between them 0.816 (Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R? is 66.6%. This means that the independent
variable can explain the changing of the dependent variable (employee welfare)
66.6%. Another 33.4% are explained by other factors, which are not included in this
model. The adjusted R” is 66.5% is used to avoid bias that may occur from the

optimistic.

From the result, it can be explained that employee welfare has the relationship
with the level of .customer contact/customization. The coefficient of customer
contact/customization is significantly positive. This implies that while the level of
customer contact/customization increases, the employee welfare will increase in its
challenge to the managers who work for service companies vice versa. From this

result, it is not the same as expected outcome.

To select qualified employees to. serve in high level of customer
contact/customization businesses, the companies have to pay more attention and cost
in order to get them. To keep these good qualified employees with the companies as

long as possible, the companies need to set an attractive welfare for them.

Scheduling workforces: The result of the F-test shows that the I value =
569.518 and the significance level equal to 0.000. This means that there is at least
one independent variable in the model that can explain the dependent variable (Table

5.2)
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By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is negative,

The coefficient of the variable, aims to measure the relationship customer
contact and management challenges (scheduling workforces) variable, is negative and
significance at the five percent. From the result of the coefficient, it reveals that as
the level of customer contact increases, the management challenge in scheduling

worlcforces will be decreased vice versa.

The variables included in the equation, model 17, have the correlation ( R )
between them 0.820(Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R? is 67.2%. This means that the independent
variable can explain the changing of the dependent variable (scheduling workforces)
67.2%. Another 32.8% are explained by other factors, which are not included in this
model. The adjusted R? is 67.1% is used to avoid bias that may occur from the

optimistic,

From the result, it can be explained that scheduling workforces has the
relationship with the level of customer contact/customization. The coefficient of
customer contact/customization is significantly negative. This implies that while the
level of customer contact/customization increases, the scheduling workforces will
decrease in its challenge to the managers who work for service companies vice versa.

From this result, it is not the same as expected outcome.

The service with high level of customer contact/customization aims to serve .
customer as individual. When the employees serve one customer finished, the next
customer will come. It uses the method of first come, first serve. Thus, the manager
will not pay more attention to the scheduling workforces. While low customer
contact businesses, the employees will have more time that does not contact with the
customers. Thus, they will try to escape from work. As a result, scheduling

workforces is necessary to the business that has low level of customer contact.
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Managing demand to avoid peak and to promote off-peaks: The result of the
F-test shows that the F value = 340.593 and the significance level equal to 0.000.
This means that there is at least one independent variable in the model that can

explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is positive.

The coefficient of the variable, aims to measure the relationship customer
contact and management challenge (managing demand to avoid peak and to promote
off-peaks) variable, is positive and significance at the five percent. From the result of
the coefficient, it reveals that as the level of customer contact increases, the
management challenge in managing demand to avoid peak and to promote off-peaks

will be increased vice versa.

The variables included in the equation, model 18, have the correlation ( R )
between them 0.742(Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R* is 55.1%. This means that the independent
variable can explain the changing of the dependent variable (managing demand to
avoid peak and to promote off-peaks) 55.1%. Another 44.9% are explained by other
factors, which are not included in this model: The adjusted R* is 54.9% is used to

avoid bias that may occur from the optimistic.

From the result, it can be explained that managing demand to avoid peak and
to promote off-peak has the relationship with the level of customer.
contact/customization.  The coefficient of customer contact/customization is
significantly positive.  This implies that while the level of customer
contact/customization increases, the managing demand to avoid peak and to promote
off-peak will increase in its challenge to the managers who work for service

companies vice versa. From this result, it is not the same as expected outcome.
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High customer contact means serving the customer as individual. When the
demand is too high, it is difficult for the employees to take care customers at the same

level. Thus, managing demand is important.

Managing fairly rigid hierarchy with need for standard operating procedures:
The result of the F-test shows that the F value = 618.028 and the significance level
equal to 0.000. This means that there is at least one independent variable in the model

that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation' by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is negative.

The coefficient of the variable, aims to measure the relationship customer
contact and management challenge (managing fairly rigid hierarchy with need for
standard operating procedures) variable, is negative and significance at the five
percent. From thesresult of the coefficient, it reveals that as the level of customer
contact increases, the-management challenge in managing fairly rigid hterarchy with

need for standard operating procedures will be decreased vice versa.

The variables included in the equation, model 19, have the correlation ( R )
between them 0.831(Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R* is 69.0%. This means that the independent
variable can explain the changing of the dependent variable (managing fairly rigid
hierarchy with need for standard operating procedures) 69.0%. Another 31.0% are
explained by other factors, which are not included in this model. The adjusted R* is

68.9% is used to avoid bias that may occur from the optimistic.

From the result, it can be explained that managing fairly rigid hierarchy with
the need for standard operating procedure has the relationship with the level of
customer contact/customization. The coefficient of customer contact/customization is
significantly negative.  This implies that while the level of customer

contact/customization increases, the managing fairly rigid hierarchy with the need for
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standard operating procedure will decrease in its challenge to the managers who work
for service companies vice versa. From this result, it is the same as expected

outcome.

To retain customers, it is important for the companies that have standard
operating procedure, especially, high customer contact business. For example: facial
massage, if the employees cannot keep their standard for operation, the customer may

not satisfy. Therefore, this point is very challenge for the managers.

Fighting cost increases: The result of the F-test shows that the F value =
883.226 for labor intensity and 450.179 for customer contact, the significance level
equal to 0.000 for both variables. This means that there are both two independent

variables in the model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variables that will be
included in the equation by using the stepwise method (Table 5.3). There are two
variables included in the model. They are labor intensity and customer contact. The

variables are negative for labor intensity and positive for customer contact.

The coefficients of the variables, aim to measure the relationship of labor
intensity and customer contact with management challenge (fighting cost increase)
variable, are negative for labor intensity and positive for customer contact. The
significance is at the five percent. From the result of the coefficients, they reveal that
as the level of labor intensity increases, the management challenge in fighting cost
increases will be decreased. For customer contact, as the level of customer contact
increases, the managemeht challenge in fighting cost increases will be increased vice

versa.

The variables included in the equation, model 20, have the correlation ( R )
between labor intensity and fighting cost increases equal to 0.872, for customer
contact and fighting cost increase is 0.874(Table 5.4). These figures mean there are
relationship between independents and dependent variables because they are closer to
1. The overall goodness of fit of the model measured by R* is 76.1% for labor

intensity and 76.5% for customer contact. These mean that the labor intensity can



explain the changing of the dependent variable (fighting cost increases) 76.1% and
customer contact can explain 76.5%. Another 23.9% are explained by other factors
for labor intensity and 23.5% cannot explain by customer contact. The adjusted R?
are 76.0% and 76.3% for labor intensity and customer contact respectively are used to

avoid bias that may occur from the optimistic.

From the result, it can be explained that fighting cost increase has the
relationship with the level of customer contact/customization and labor intensity. The
coefficient of customer contact is positive while the coefficient of labor intensity is
significantly negative. These imply that while the level of customer
contact/customization increases, fighting cost increase becomes more challenge. For
labor intensity, as its level is increase, fighting cost increase will decrease in its
challenge to the managers who work for service companies vice versa. From this
result, they are not the same as expected outcome for labor intensity but the same for

customer confact.

For the companies that serve the customer as individual, it will create more
cost to the companies. Thus, managers try to reduce the cost as much as possible. On
the other hand, high labor intensity will not pay more attention to cost increase instead

the managers pay more attention to controlling process.

Muaintaining quality; The result of the I'-test shows that the F value = 429.154
and the significance level egual t0 0.000. This - means that there is at least one

independent variable in the model that can explain the dependent variable (Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is negative.

The coefficient of the variable, aims to measure the relationship customer
contact and management challenges (maintaining quality) variable, is negative and
significance at the five percent. From the result of the coefficient, it reveals that as
the level of customer contact increases, the management challenge maintaining

quality will be decreased vice versa.
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The variables included in the equation, model 21, have the correlation ( R )
between them 0.779(Table 5.4). This figure means there is a relationship between
independent and dependent variables because it is closer to 1. The overall goodness
of fit of the model measured by R* is 60.7%. This means that the independent
variable can explain the changing of the dependent variable (maintaining quality)
60.7%. Another 39.3% are explained by other factors, which are not included in this
model. The adjusted R? is 60.5% is used to avoid bias that may occur from the

optimistic

From the result, it can be explained that maintaining quality has the
relationship with the level of customer contact/customization. The coefficient of
customer contact/customization is significantly positive. This implies that while the
level of customer contact/customization increase, the maintaining quality will increase
in its challenge to the managers who work for service companies vice versa. From

this result, it is not the same as expected outcome.

For high customer contact, it is important for every people to maintain the

quality because it is a way to retain the companies' employees.

Work methods development and control: The result of the F-test shows that the
F value = 682.521 and the significance level equal to 0.000. This means that there is
at least one independent variable in the model that can explain the dependent variable

(Table 5.2)

By analysis of the T-test, the researcher can get the variable that will be
included in the equation by using the stepwise method (Table 5.3). There is one

variable included in the model. It is customer contact. The variable is negative.

The coefficient of the variable, aims to measuré the relationship customer
contact and management challenge (work methods development and control) variable,
is negative and significance at the five percent. From the result of the coefficient, it
reveals that as the level of customer contact increases, the management challenge in

work methods development and control will be decreased vice versa.
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The variables inc_luded in the equation, model 21, have the correlation ( R )
between them 0.843(Table 5.4). This figure means there is a relationship between
independent and dependent variables because 1t is closer to 1. The overall goodness
of fit of the model measured by R is 71.1%. This means that the independent
variable can explain the changing of the dependent variable (work methods
development and contrel) 71.1%. Another 28.9% are explained by other factors,
which are not included in this model. The adjusted R? is 71.0% is used to avoid bias

that may occur from the optimistic.

From the result, it can be explained that work methods development and
control has the relationship with the level of customer contact/customization. The
coefficient of customer contact/customization is significantly positive. This implies
that while the level of customer contact/customization increases, the work methods
development and control will increase in its challenge to the managers who work for
service companies vice versa. From this result, it is not the same as expected

oufcome.

For business that has high contact with the customers, it is crucial for the
company to develop the service in order to make it better. If the level of customer

contact is low, this challenge will not much challenge.

The validity of ordiuary least squares (OLS)
Durbin -Watson

Durbin-Watson is used to test the autocorrelation. If Durbin-Watson has value
near to 2 or in range from 1.50 - 2.50, it can conclude that el and ej are independent
from each other where ¢; is random error of i and ¢; is the random error of j. If the
value of Durbin-Watson is less than 1.50, it means there is a positive relation between -
ei and ej. If the value is closer to zero, it means there is more relationship. At the
same time, if Durbin-Watson has value greater than 2.50 but not more than 4. It
means ei and ¢j has a relationship with each other but in a negative way (Dr.Kanlaya

W., 2544),
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Thus, the researcher can conclude the results for all 22 models that these
models have no relationship between ei and ej because the value of Durbin-Watson

are in range 1.50-2.50.

Variance Inflation Factor (VIF)
Variance Inflation Factor is used to the multicollinearity. This is used to test
whether there is a relationship among independent variables. If VIF is greater than 5,

it means there is high relationship among independent variables (Studenmund, 1996).

From the research’s results, VIF of each variable in the study is 1. Thus, it can
be concluded that there is no relationship among independent variables in these

models.

Plotting Spread Area
Plot the spreading area is used to test the Heteroskedasticity. Thus, the
researcher has plotted the graph. After the observation, the researcher noticed that all

graphs are normally drawn in classical model (Appendices).
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Chapter 6: Conclusions and Recommendations

This chapter consists of 2 parts. The first part is summary of the research

findings. The second part is the recommendation.

6.1 Summary of Findings
Table 6.1: Relationships between management challenges and service

classification dimensions

Management challenges Labor Customer
Intensity Contact/
1. Marketing - Negative
2. Making service "warm” Positive -
3. Scheduling service delivery - Positive
4. Reacting to customer intervention in process - Positive
5. Managing advancement of peopie delivering service Positive Positive
6. Attention to physical surroundings Pasitive Positive
7. Managing flat hierarchy with loose subordinate-superior
refationships Negative Negative
8. Capital decision Negative -
9, Technological advances Negative Negative
10. Control of far-flung geographical locations - Positive
i1, Startup new units ' = Positive
12. Managing growth - Positivé
13. Gaining employee loyalty - Positive
14. Hiring - Positive
15. Training _ - Negative
16. Employee welfare - Positive
17. Scheduling workforces - Negative
18. Managing demand to avoid peak and to promote off- peaks - Positive

19. Managing fairly rigid hierarchy with need for standard operating

procedures . Megative
20. Fighting cost increase Negative Positive
21. Maintaining quality - Positive
22. Work methods development and control - Positive

From table 6, the researcher can make some conclusions that there is

relationship between management challenges across various types of service
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industries and change in the degree of customer contact/customization and labor
intensity. There are 2 types of relationship. One is positive relationship that is
changing at the same direction. Another one is negative relationship that is changing

at the opposite direction,

For the relationship between management challenges across various types of
service industries and change in the degree of customer contact/customization, there is
some management that quit challenges to the managers. These are scheduling service
delivery, reacting to customer intervention in process, managing advancement of
people delivering service, startup new units, and work methods development are top
of management challenges with an increase in customer contact/customization. While
managing growth, gaining employee loyalty, hiring, employee welfare, managing
demand to avoid peak and to promote off-peaks, fighting cost inereases, attention to
physical surroundings, control of far-flung geographical locations and maintaining
quality are average challenges to the managers. Thus, these management are expected
to be more important for service shops and professional service than service factories

and mass services.

A number of other management challenges, marketing, managing flat
hierarchy with loose subordinate-superior relationships, technological advances,
training, scheduling workforces and managing fairly rigid hierarchy with need for
standard operating procedures, become less important for customer
contact/customization increase. These management aspects can be expected to be

more important for service factories and mass services.

When the researcher looks through the relationship between management
challenges across various types of service industries and change in degree of labor.
intensity; making service “warm”, managing advancement of people delivering
service and attention to physical surroundings are increase in their challenges as the
labor intensity increase. Thus, these management challenges can be expected to be

more important for service shops and professional services.

On the other hand, managing flat hierarchy with loose subordinate-superior

relationships, capital decision, technological advances, control of far-flung
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geographical locations and fighting cost increase are increase in their challenges as
the labor infensity decrease. Thus, the managers can expect that these management

challenges are important for service factories and mass services.

All statement above describes the relationship between management
challenges across various types of service industries and changes in degree of
customer contact/customization and labor intensity., For the next part, the researcher

will make some conclusion about the test hypotheses.

From this research study, all alternative hypotheses are accepted because the
significance of the F-test equals to 0,000. @ These significance values are less than
0.05. The R - values are in the range between 0.74 - 0.87 approximately. This
means there are relationship between independent and dependent variables. For R?,
the range is approximately between 55% - 76%. These values mean there is high
level for independent variables to explain dependent variables. Moreover, there is no
violation of the assumption of ordinary least square (OLS). The Durbin-Watson
values are in range between 1.50 - 2.50. VIF are all about 1.000. The plot spread is
in good form (Appendices).

6.2 Recommendation

After this study completed, researcher hopes that it will generate some benefits
to some groups of people. In this study, the researcher pays more attention to service
businesses that differ in the degree of customer contact/customization and labor
intensity. There are service factories (low customer contact/customization and low
labor intensity), service shops (high customer contact/customization and fow labor
intensity), mass services (low customer contact/customization and high labor.
intensity) and professional services (high customer contact/customization and high

labor intensity).

o Service Factories (low customer contact/customization and low labor intensity)
The service factories have both low in the ievel of customer
contact/customization and labor intensity. Thus, marketing is very important for the

firms. The companies have few chances to collect the information from the customers
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directly. The companies will not know what is customer like. The better way for the
company to attract customers to come and use the services is marketing. Marketing is
involving in product, price, place and promotion. Thus, serving the customer with
good quality products, selling at lower price, having more branches or giving free

sample may be the way to aftract them.

Managing flat hierarchy with loose subordinate-superior relationships is also
crucial to the managers. The companies that run the businesses without knowing
information much about the customers, it is quite risk. The companies will not know
whether the services that the companies provide to the customers meet their
expectations. To let the employees make all decisions by themselves can make the
companies lose the custo‘mers. Due to this business has low labor intensity, giving
some authorities to the employee is important. Sometimes, the employees have to
make decision that is not much important. If they have to ask the managers for every
decision making, it may be too late for serving the customers and the customers will

not satisfy.

The business in this service industry mostly operates by using machines and
equipment. ~ Thus, making decision about the technological advances is important.
The managers have to think hard about this because each machine is so expensive.
When the managers have already bought it, the managers have to use it for a long
time. Thus, making wrong decision, it may cause a lot of costs to the companies for
many years. Before buying new machine, it is crucial for the managers to study more
closely about their works., Sometimes, brainstorming between the managers and the
employees can gener‘ate wider views to the managers. This can help the managers

make decision better.

Although most of works for this service industry are mainly done by machine,
the machine also has to operate according to the program that set by the workers.
Nevertheless, training the employees is much important. When the machine is out of
order, the one who operates the service is employee. Training can be done once a
month or more than this because it can help the employees familiar to their works and

can work well even there is no machine.
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Sometimes, the employees have some confusion about their jobs because they
think those jobs are done by the machines. Thus, they will have more free time. To
set schedule for workforces, the managers will know how many employees they need.

At the same time, it can help the employees work more efficient.

The machine uses to do most of their jobs for this service industry because this
business gives more important for standard and fast operation. Thus, the managers
will pay attention to the work in order to assure that the service will provide at the
same standard. Maintaining the machine is also important because the managers will
not know when the machine is out of order. Some errors have effect on the quality of

the service. Thus, checking the status of the machine can help reduce this risky event.

Although, this business will have few employees, making employee realize
about the saving costs for the companies is important. This can help the company
gains more profits and can survive. At the same time, the employees can get more
bonuses. To help employees recognize about the cost savings, the companies may set
some saving campaign and tell the employees about the benefits that they will get

from this campaign. This can motivate them to save costs.

o Service Shops (high customer contact/customization and low labor intensity)

As the companies have more information about he customers, thus, the
companies will know exactly when the customers want the service. For example:
auto mobile repair shops, when the customers bring the car to repair, the service
provider has to appoint for the date to pick the car back. If the companies have to
well planned about the schedule for service delivery, it can make customers feel bad

towards the companies.

For the information that the service provider gets from the customers, it is
important to make use of it for improving the service of the companies. Thus,
managers have given more important to this aspect. After the managers have
improved the service, it is also challenge to the manager to select the employees and
encouraged them to serve the customers better. The company may send the

employees to learn more about the job they work etc.

94



This business has high customer contact, it means the companies have to serve
all customers need as much as possible. For example: repair shop, the shop needs to
have materials for repairing the products. When some materials have high costs, the
companies need to find some substituted material. If the companies have not paid

attention to the physical surroundings, it may cost a lot to the companies.

Control of far-flung geographical locations is very important and challenge to
the managers, especially the business with high customer contact. Due to the
companies get more information from the customers, the service should be excellent
to the customers. If the managers do not stay at the same place as service occurred, it
is quite challenge to managers on how to manage that service to meet customer’s
expectation, as well starting new units.  Due to the world is advanced in technology,
Internet can help manager solving this problem or even the videoconference. If the
employees have some problems that cannot be solved, they can use these advanced

technologies to help them.

For people who serve the customers should be qualified employees. The
process to choose the employee is quite hard and expensive. Then, keeping the
qualified employees also important. Thus, the manager will try to find out as many
ways as possible to keep them. One of them is setting attractive employee welfare.
The qualified employees come with costs. Nevertheless, the qualified employees also
assets of the companies because they are people who contact with the customer
directly. To know what employee likes, the companies may let the employees express
the ideas and send it at suggestion box. After the managers get the results, they will

summarize them and choose what most employees mostly want.

As the companies get information from the customer directly, thus, the.
companies can expect which period has high or low demand. During high demand,
the companies may hire more employees. For low demand, the companies may
reduce a number of empioyee etc. Although, most of works for this service industry
are mainly done by machine. Nevertheless, the quality of service has still important.
To assure that the service will be in the same standard, the managers always have to

develop the service and control the people who provide service.” To make the
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development more efficient, the managers have to keep high contact with the

customers as much as possible in order to gain the valuable information.

When the employees have more information about the customers, during high
material costs, the employee will know what material can be used instead and can the
customers will aceept it. Due to the companies have few employees to serve the
customers, thus, some of them may have close relationship with the customers. As a
result, fighting cost increase becomes difficult to control. For example: when the
employees have close relationship with the customers, the employees know what
material customers always use. One day that material has high cost and the owner
tells them not using this material with the customers. When the close customers
come, they will use that material without concermning about the cost that increases.
The managers can solve t.his problem by finding good substitute products and tell the
employees about this. When the employees know that this substitute product is good,

they will tell this to the customers and customers may use that substitute product.

As the business has few employees to serve the customer, thus, some
technologies are needed to support them, Anyway, making capital decision should be
carefully done because it has directly effect to the workers and the work they do. For
example: repair shop, the'managers have to buy the machine that can release the work
of employees as much as possible because the companies have few employees. If the
machine is not good, the employee will feel bad because they also have to workload
the same as former. Careful reviewing about the pros and cons of the machine is

necessary, More comparing 1s also better to get the good one.

The employees who work in this service industry is quite good at jobs they do,
especially, for companies with few employees. These employees have more.
experiences toward their jobs. Thus, using loose subordinate-superior relationship
may help them feel good. At the same time, both managers and employees can learn

some experiences {rom each other and used in their works.

e Mass Services (low customer contact/customization and high labor intensity)
As the business has low contact with the customer, marketing is an important

tool for attracting the customers to use this service. If the managers can set the

a4



marketing campaign that is very attractive, sometimes it can offset something that the
customers did not satisfy after using the service. Thus, setting marketing campaign is

so challenge to the managers.

Although the service provider has low contact with the customers, sometimes,
they have more valuable information. If there is high gap between subordinate-
superior relationship, it is impossible for the managers to get the valuable information
from the employees. Thus, the managers should try to keep contact with the

employees as much as possible and keep the door open for all level of employees.

Although the employees have low contact with the customers, sometimes,
technology can help the companies get some information about the customers. For
example: Internet, when the customer often orders some goods from the company
through the Internet, the company can gain some information through their ordering.
The company will know what the customer likes and tries to serve them. Thus,
paying attention to technological advance is also crucial to the firms. After getting
the information, the'manager needs to teach and train their employees to make use of
the information get-from the Internet. If the managers do not train them to make use

of this information, the acquired information will useless.

Sometimes, having low customer contact may make the employees do not
know what customers want. - Thus, the employees will donothing because the
employees do not interested in the customers. Setting schedule workforces can help
the managers in evaluating process. For example: When the customers come and use
service at the shop, they do not get any respond from the employees. The customers
can write some comments and specific time and date of using service. This can help

the managers know who is the employee that should be improved.

One of the businesses in this service industry is retail shop such as 7-eleven.
Although the employees have low contact with the customers, the companies also try
to make the service more standard. For example: when the customers enter to the
shop, the employees will say greeting words to the customers. Moreover, the shop

will decorate at the same pattern in order to tell the customers that they can get the
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same service wherever they buy. This can help the customer recognizes the shop and

rebuy at the shop again of they satisfy.

Having high labor intensity, making service warm becomes more important.
As many people know, having more people is hard to control and manage, Thus, to
make a large group of people behaves with good warmth manner becomes more
chailenge to the managers, as well managing advancement of people delivering
service. The managers have to select which one should be encouraged or dismissed
from a pool of employees. For example: the companies can set some campaign such
as employee of the month. The employee of the month is the person who has good
manner, hard working etc. The colleagues will select the employee of the month.
When the companies get who is the employee of the month, this person will get some
gifts and some compliments from the companies. This method may help the

employees eager to behave good warmth manner.

When the companies have high labor intensity, it means the companies have to
pay high costs. Thus, the companies also have to pay more attention to physical
surroundings. For example: as the economic crisis, many companies try to reduce
costs. If the companies have not pay attention to this situation, the companies may
fail. Therefore, the managers should let the employees know about this situation and
give them a chance to propose the ideas of saving costs. Giving them a chance can

help them feel as a member of the companies and they will eager to cooperate,

o Professional Services (high customer contact/customization and [abor intensity)
One of the businesses in this service industry is legal firm. To serve the
customers well, the companies need to have more information from the customers and
use it in the process. For example: when the customers hire the attorney for their.
cases, the attorney needs to know all information about the cases from the customers.
Then, the attorney will use the information as a guideline for solving the problems.

Thus, reacting to customer intervention in process becomes more important.

As the business is in professional service industry, it means every thing should
be done as professional. Thus, setting schedule for service delivery is so crucial.

From the above example, when the attorney has to go to the court for the customers.

98



The attorney needs to plan carefully because the attorney cannot miss it. Giving some
good equipment to the employees such as palm computer can help them do their jobs

better.

The world and the environment have always changed, as well, the laws and
regulations.  Thus, the service provider needs to interest in the changes around
themsefves. For example: when the laws have changed, the attorney needs to study
about 1t. As a result, managing advancement of people delivering service gains more
important. Otherwise, the attorney cannot work successfully because the old law may
not be properly used for the new environment. Thus, managers may set some
meetings and tell the employees about what has changed. This will make employees
know what is change. By helping them know about the things that have changed, it is

a way to encourage the employee to advance in their jobs.

Business with high customer contact needs to operate carefully. The service
has effect on the customer directly. If the customers do not get the proper sefi/ice,
they may not come and use the service provider. Thus, it is hard for the managers to
control this kind of business that quite far from the central location, This probi.em is
the same as starting up new units. If the managers cannot sure that they can control
the new branch, they will not take this risk. Nevertheless, new technology can help
solving this problem. Even the managers will not stay at the place to the use of

advance technology.

During the growth period, the professional service may not serve the
customers as first comes, first serves. The service provider needs to consider about
the time and the importance of the work. Otherwise, some cases that have few times

left cannot be solved in time.

Due to this service industry needs to have employees that are good and have
enough skills and knowledge for their works. Thus, hiring is important. If the
companies get the right and good people to work for them, they should keep them
with the companies as long as possible. Thus, gaining employee loyalty is so
important. The companies have to find what the employees like and want. If it is not

too much, the companies should give it to them. This can be in the form of employee
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welfare or others. When the employees satisfy, they can stay with the companies for

long.

To work closely with the customers, the companies will know the trend of the
customers to come and use the services. Thus, managing demand during peak and
off-peak is challenge. For example: wedding studio, the companies will know which
month has more customers and which month has not. Thus, the shops will set some
campaign that can attract customers to use service during that period. On the other
hand, if there are many customers, the shops can hire more employees to help them.
Although there are some fluctuates of the demand, maintaining quality has still

important and challenge to the managers.

Whatever the companies want to satisfy the customers, it may generate higher
costs for the companies. Thus, it is better for the companies to study about the need
of customers and choose what are the important services that the customers often use.
This can help the companies save more cost for service that is not popular-and use this
cost for doing others that is better. Anyway, making decision about this thing is
crucial, the managers need to have a good method to develop and control closely in
order to know whetherit is good.

The professional service has high labor intensity. To make all of them serve
the customer with warmth manner is very difficult. Thus, it is challenge to the
managers to make this happen. Sometimes, positive reinforcement can be used that is

giving gifts or others for the one who works well.

The researcher hopes that this recommendation can generate some guidelines

to the managers and business owners to use for their improvement.
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APPENDIX A



Assumption University .
This questionnaire is a part of a thesis in Master Degree Program of Assumption .
University. This study involves the relationship between management challenges and
four different types of services (service factories, service shops, mass services and
professional services). The data obtained could benefit many organizations. Thus,

your kind provision of the data would be very much appreciated.

Please v'in the blank (only one v for each question)

No. Management challenge Strongly not Not Neutral  Challenging Strongly
challenging challenging challenging
(4 (2} (3) (4} (5}

Ql Marketing

Q2 | Making service "warm”

Q3 | Scheduling service delivery

Q4 | Reacting to customer iatervention in

process

Qs Managing advancement of people

delivering service

(o] Attention to physical surroundings

Q7 Managing Hat Gierarchy with loose

subordinate-supszrior refationships

[oF: Capital decigion

Q9 Technological advances

QU0 | Control of far-flung geographical

locations

Ql1 Startup of new units

Q12 | Managing growth

Q13 | Gaining emplayee loyalty

Ql4 | Hiring

Q15 | Training

QL6 | Employee welfare

Q17 | Scheduling worktorces

Q18 Managing demand to avoid peak and to

promote off-peaks

Q19 Managing fairly rigid hierarchy with

¢ need for standard operaling procedures




Q20 | Fighting cost increases

Q2 Maintaining quatity

Q22 | Work methods development and control

Thank you for your cooperation
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APPENDIX B



Variables Entered/Removed

| Model |Variables Entered| Variables Method
Removed —
I customer contact {Stepwise (CZriteria: Protability-of-F-to-enter <= 050,
Probability-of-F-to-remove >= _100).
a Dependent Variable: marketing
Model |Variables Entered] Variables 1 Method
Remaoved | —
l labor intensity Stepwise (Criteria: Probanility-of-F-to-enter <= 050,
iProbability-of-F-to-remove >= .109).
l
a Dependent Variable: making service "warm"
Mode! [Variables Entered| Variables Method
Removed »
! customer contact . JSteowise (Criteria: Probahility-of-F-to-enter <= .050,
Probability-of-F-to-remove >= 100).
a Dependent Variable: Scheduling service delivery
Model [Variables Entered] Variables "~ Method
Removed
l customer contact [Stepwise (Criteria: Probability-of-F-to-enter <= 050,
Probability-cf-F-to-remove >= . 100).
a Dependent Variable: Reacting to customer intervention in process
Model |[Variables Entered| Variables Method
Removed
[ customer contact JStepwise (Criteria: Probabilitv-of-F-to-enter <= .050,
lProbah%iily—of‘-F-to-removc »=,100).
2 labor intensity |Stepwisze (Criteria: Probﬁ-ﬁity—of—f-‘-to-enter <= 050,
Propaoility-oi-F-to-remoyve >= 100).
a Dependent Variable: Managing advancement of people delivering servize
Model [Variables Entered| Variables IVlethod
Removed
1 customer contact [Stepwise (Criteria: Probahility-of-F-to-enter <= 050,
Probability-of-F-to-remove >= .100}.
2 labor intensity Stepwise (Criteria: Probabilicy-of-F-to-enter <= .050,

Probability-of-I-to-remove =, 100).

a Dependent Variable: Attention to physical surroundings




Variables Entered/Removed

Model [Variables Eatered| Variables Melhod
Removed
1 customer contact Stepwise (Criteria: Probability-of-F-to-enter <= .050,
Probability-of-F-to-remove »>= .100),
2 tabor intensity JStepwise (Criteria: Probability-of-F-to-enter <= .050,
Probability-of-F-to-remove >= . 100).
a Dependent Variable: Managing flat hierarchy with loose subordinate-superior relationships
Model |Variabies Entered] Variables Method
Removed
1 labor intensity |Stepwise (Criteria: Probability-of-F-to-enter <= .050,
Probzbility-of-F-to-remove >= ,100).
a Dependent Variable: Capital decision
Model |[Variables Entered| Variables Method
Removed i
I customer contact Stepwise {Criteria: Frobability-of-F-to-enter <= .050,
Probability-of-F-to-remove »= .100).
2 labor intensity {Stepwise (Criteria: Probatility-of-F-to-enter <= .050,
Probability-of-F-to-remove >= . 100).
a Dependent Variable: Technological advances
Model |Variables Entered| Variables Method
Removed B
1 customer contact [Stepwise (Criteria: Probability-of-F-to-enter <= 050,
Probabitity-of-F-to-remove >= ,100),
a Dependent Variable: Control of far-flung geographical jocation
Model |Variables Entered] Variables Method
Removed .
1 customer contact JStepwise (Criteria: Probatility-of-F-to-enter <= 050,
Probatbility-or-F-to-remove >= . 100).
a Dependent Variable: Startup new units
Model |[Variables Entered] Variables Method
Removed _ .
1 cuistonser contact Stepwise (Criteria: Probability-of-F-to-enter <= .050,
Probabiiity-of-F-to-remove >=.100).
a Dependent Variable: Managing growth
Model |[Variables Entered| Variables Method
Removed :
1 customer contact Stepwise (Criteria; Probability-of-F-to-enter <= 050,
Probahility-of-F-to-remove >= 100).

a Dependent Variable: Gaining employee loyalty




Variables Entered/Removed

Model |Variables Entered| Variables Method
Removed
1 custemer contact [Stepwise {Criteria: Probability-of-F-to-enter <= 050,
Frobability-o%F-to-remove >= ,100).
a Dependent Variable: Hiring
Model |Variables Entered| Variables Method
Removed
| customer contact [Stepwise (Criteria; Probatility-of-F-to-enter <= .050,]
jF‘mbahilEr_,;r-of—F-to-rcmnve >=_100).
a Dependent Variable: Training
Model |Variables Entered| Variables Method
Removed _
1 customer contact Stepwise (Criteria: Probability-of-F-to-enter <= 050,
Probability-or-F-to-tcinove >= {00).
a Dependent Variable: Employee welfare
Model |Variables Entered| Variables Method
Removed
1 customer contact Stepwise (Criteria: Probability-of-F-to-enter <= .050,
Prcbability-of-F-to-remove >= .100).
a Dependent Variable: Scheduling workforces
| Model [Variables Entered| Variables Py " Method
Removed |
§ customer contact [Stepwise {(Criteria: Procability-of-F-to-enter <= 050,
Probability -0 f-F-to-remove >= 100},
a Dependent Variable: Managing demand to avoid peak and to promote off-peaks
Model |Variables Entered| Variables Method
Removed
| customer contact Stepwise {Criteria: Probavility-of-F-to-enter <= 050,

Probatility-o -F-to-remeve >= .100).

a Dependent Variable: Managing fairly rigid hierarchy with n12ed for standnrd operating procedures

t

Probabiliry-of-F-to-remove >= . 100).

Model |Variables Entered| Variubles | Method
Removed
1 labor intensity JStepwise {Criteria: Probabilify-of-F-to-enter <= .050,
Probability-of-F-to-reniove >= . 100).
2 customer contact SStepwise (Criteria: Probability-of-F-to-enter <= .050,

a Dependent Variable: Fighting cost increases




Variables Entered/Removed

Model :Variables Entered| Variables Wethod
Removed
! customer contact [Stepwise {Ciiteria: Probability-of-F-to-enter <= .050,
Probability-cf-F-to-remave >= . 100).
a Dependent Variable: Maintaining quality
Model [Variables Entered| Variables , v Metinod
Removed
customer contact [Stepwise (Criteria: Prebability-of-F-to-enter <= 050,

!

|Probabiiity-of—F-to-rcmo\'e >=100).

a Dependent Variable: Work methods develonment and control




Model Summary

Std.
Error of Change Statistics
Adjusted | the R Square Sig. ¥ | Durbin-
Model: R _|R Square|R Squarc|Estimate] Change | 7 Change (f1 | df2 | Change | Watson
] 309 654 053 .63 054 | 325491 | 1278 ] 0G0 2.4 17
a Predictors: (Constant), customer contact
b Dependent Variable: marketing
Std.
Error of Change Statistics
Adjusted| the | R3quare Sig. F | Durbin-
Model] R__iR Squarc|R Square Estimate, Change | F Change | af1 | df2 | Change | Watson
l 753 567 563 71 | 567 1 363.719 | 1 |2781 .000 2.245
a Predictors: (Constant), labor intensity
b Dependent Variable: making service "warm”
Std.
Error of Change Statisties
Adjusted; the R Square Sig. F | Durbin-
Modell R {R Square|R Square(Estimate] Change | F Change | dfl | di2{ Chanee | Watson
1 848 719 718 .65 719 712.486 ] 1278 .000 2.150
a Predictors: {(Constant), customer contact :
b Dependent Variable: Scheduling service delivery
Std.
Error of Change Siutistics
Adjusted| the | R Square Sig, F | Durbin-
Modell R |R Square|R Square|Estimate] Change | F Change | dfl | df2 | Chanpe | Watson
860 740 739 .58 740 | 7S0.188 ¢+ 1 [278] .000 2.105
a Predictors: (Constant), customer contact
b Dependent Variable: Reacting to customer interventior: in pracess
Std. .
SR C]mnge_&gt_i.ﬁws
Adjusted the R Squars Sig. F | Durbin-
Model] R IR Square|R SquareiEstimatel Change | F-Change | af1 1 df2 | Change | Watson
1 51 564 563 b6 4 364 359.886 ¢+ 1 1278 000
2 .760 578 .574 .65 013 8.756 { L 2771 003 2.020
a Predictors: (Constant), customer contact '
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Managing advancement of people delivering service
Std.
i EvFGEnTi— Chanze Statistics
Adjusted the R Squaie Sig. F | Durbin-
Modell R IR SquarelR SquarelEstimatel Change | F Chanre | dfl [df2| Change | Watson
1 .769 591 590 71 5391 401.805 1 {278 000
2 J77 604 601 70 D31 9.91¢€ 1 1277 __.003 1.834

a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Attention to physical surrnundings




Model Summary

et i QRS
¥ --ﬁ %
SRR NS ‘{;r o
o L2

Std. |
Etioe ol Change Statistics
Adjusted | the | R Square ! Sig. F | Durbin-
Model! R |R Square!R Square|Estimate| Change FCha__ngg_l_dfl df2 | Change | Watson
| 812 659 .658 .64 659 538.354 ' 1 12781 .000
2 813 .665 662 .64 003 4.287 _L_I 277|039 1.976
a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Managing flat hierarchy with loose subordinate-sugerior relationships
Std.
Error of Change Statistics
Adjusted| the | R Square | Sig. F | Durbin-
Model| R |R Square|R Square|Estimate| Change (F Change | dfl |df2| Change | Watson
1 798 637 636 .67 637 | 488.184 1 1 1278  .000 2.029
a Predictors: (Constant), labor intensity
b Dependent Variable: Capital decision
Std.
Error of Change Statistics
Adjusted | the R Square ] Sig. F | Durbin-
Model; R 1R Square|{R Square Estimate] Change ' F Change | dil |df2| Change | Watson
1 173 598 596 572 598 | 412737 | 1 [278] .000
2 | 7941 630 627 69 032 | 24205 | 1 [277] 000 1.773
a Predictors: (Constant), customer contact
b Predictors: (Constant), castomer contact, labor intensity
¢ Dependent Variable: Technological advances
Std.
Ecrorof _Change Statistics
Adjusted | the R Square Sig. ¥ | Durbin-
Model| R |[RSquare{R Squarei{Estimate! Change | F Change (d{1| df2 | Change | Watson
| 153 567 565 68 567 3€3.258 | 1 1278  .00C 2.216
a Predictors: (Constant}, customer contact
b Dependent Variable: Control of far-flung gecgraphical lozarion
Stc.
Error of Chiange Statistics
Adjusted | the R Square Sig. F | Durbin-
Model| R |R Square|R Square Estimate| Change | F Change | df1 jdf2| Change | Watson
l 836 .699 .698 G 699 | 645.769 L2781 .000 2.405
a Predictors: (Constant), customer contact
b Dependent Variable: Startup new units
1
Std.
Error of Change Stg_t_istics
Adjusted | the R Square Sig. F | Durbin-
Modell R |[R Square|R Square{Estimate| Change | F Change | dfl | df2 | Change | Watson
1 779 .607 .605 .68 607 428.793 1 [278] .000 2.284

a Predictors: {Constant), customer contact
b Dependent Variable: Managing growth




Mode

I Summary

Ersrt)dr: of Change Stlalislics
Adjusted |  the R Square | Sig. F {Durbin-
Model; R |R Square|R Square|Estimate] Change i ¥ Change l df1 { df2 | Change [Watson
l 841 707 706 55 707 669,992 i 1 [278] .000 2.087
a Predictors: (Constant), customer contact
b Dependent Variable: Gaining employee loyalty
Std. |
Error of Changpe Statistics
Adjusted] the R Square Sig. F |Durbin -
Model| R IR Square|R SquareiiZstimate; Change | F Change | df1 1 df2 | Change | Watson
i 783 613 611 .62 613 | 439.673 C 1 {278 | 000 2.281
a Predictors; (Constant), customer contact
b Dependent Variable: Hiring
Std. &
Retor of _Change Statistics
Adjusted | the | R Square Sig. F | Durbin-
Model] R iR Square!R Square|Estimatel Change ! F Chauge | ¢f1 | df2 | Change ! Watson
| .306 649 648 62 649 T 513.979 i 1278 .000 1.946
a Predictors: (Constant), customer contact
b Dependent Variable: Training
Std. -
Errbrork : Change Siatistics
Adjusted | the R Square Sig, ¥ | Durbin-
Model] R |R Square|R Square|Estimate; Change LF Change Idf1] df2 | Change | Watson
1 816 .666 665 64 666 | 554,004 Il 278 .000 2.335
a Predictors: (Constant), customer contact
b Dependent Variable: Emplovee welfare
Std. o
Error of | Change Statistics
Adjusted | the R Square Sig. I i Durbin-
Modell R R SquareiR SquareEstimate]l Chaage JFClmng_e;_dfl df2| Change | Watson
I | 820 672 671 65 672 | 569518 | 1 J278] 000 | 2316
a Predictors: (Constant), customer contact
b Dependent Variable: Scheduling waorkforces
Ersrf;:: of Change Statistics
Adjusted| the E. Square Sig. ¥ | Durbin-
Model! R [R'Squarc|R Square|¥stimate| Change | F Change i dfl | df2 | Change | Watson
1 42 551 .549 66 551 | 340.593 | 12781 .000 2.328
a Predictors: (Constant), customer contact
b Dependent Variable: Managing demand to avoid peak and to promote off-peaks
Std.
Error of Change Statistics
Adjusted! the R Square Sig. F | Durbin-
Model| R _|R Square{R Square|Estimate| Change | F Change | dfl | df2 | Change | Watson
1 831 690 689 62 591} 618.028 1 [278] .000 2.036

a Predictors: {(Constant), customer contact
b Dependent Variable: Managing fairly rigid hierarchly with nezd for standard operating procedures




Model Summary

Std. e
Evearil : Change Statistics
Adjusted | the R Square ! Sig. F | Durbin-
Model| R IR Square|R Square|Estimate! Change |FChnnge dfi] df2 | Change | Watson
| | .872 [ 761 760 57 761 1 883226 | | [278] 000
2 .874 765 763 .57 004 | 4.862 1 {277 028 2.310
a Predictors: (Constant), labor intensity )
b Predictors: (Constant), labor intensity, custcmer contact
¢ Dependent Variable: Fighting cost increases
Std.
Error ofi_ Change Statistics
Adjusted | the RSquarL{ l Sig. F | Durbin-
Model| R |R Square!R Squarc|Estimate; Change | F Change ; 4fl | di2 ; Change ; Watson
1 779 607 603 .68 607 429,154 L 12781 .000 1.980
a Predictors: (Constant), customer corntact
b Dependent Variable: Maintaining quality
Ersr?r:of—-——-— Change Statistics
Adjusted | the RSqu“:e ! ‘ Sig. ¥ | Durbin-
iViodel] R |R Square|R Square|Estimate| Change FCbnnge dfl | df2 | Change | Watson
1 343 11 710 66 T | 63255 11 1278 | 4D 1.968

a Predictors: (Constant), customer contact
b Dependent Variable: Work methods development dnc‘ control




ANOVA

Model Sum of df Maan 0 Sig,
Squares Square
1 [Regression 243.289 ! 243.289 | 525.491 .000
Residual 128.707 278 463 |
Total 371.996 279 |
a Predictors: (Constant), customer contact
b Dependent Variable: marketing
Model Sum of df Mean | F Sig.
Squares Square
I [Regression 180.304 1 180804 | 363.719 .000
Residual 138.193 278 497
Total 318.996 279
a Predictors: (Constant), labor inteasity
b Dependent Variable: making service "warrn"
Model Sum of df Mean | F Sig.
Squares Square
1 iRegression 300.357 ] 300.357 712.886 000
Residual 117.129 278 421
[Total 417.486 2890 ] -
a Predictors: (Constant), customer contact
b Dependent Variable: Scheduling service delivery
Model Sum of df Mean - F Sig.
Squares 'op Square
I |Regression 270.089 i L 270089 | 790.188 .000
Residual 95.021 078 7 3 NING
Total 365.111 | 279 |
a Predictors: (Constant), customer coatact
b Dependent Variable: Reacting o customer intervention in process
Model Sum of df Mean F Sig
Squares Squre
1 [Regression 154.514 l 154.514 1 359.886 .000
Residual 119.357 273 429
[Total 273.871 279 L
2 [Repression 158.171 2 79086 1 189341 .000
Residual 115.700 277 _ 418
Total 273.871 279 | }

a Predictors: (Constant), customer contact

b Predictors: (Constant}, customer contact, labor intensity

¢ Dependent Variable: Managing advancement of people delivaring servics




ANOVA

Model Suni of df Mean ) Sig.
Squares | Soguure _
1 [Regression 200.604 i 200.604 | 401.806 000
Residual 138.793 278 499
Total 339.396 2719 0 '
2 [Regression 204.979 2 102.489 211,204 000
Residual 134418 277 485
Total 339,396 279 ;

- a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Attention to nhysical surroundings

Model Sum of df Mean F Sig.
Squares Square

| [Regression 219.657 I 219.657 | 538.354 .000
Residual 113.429 278 408
Total 333.086 pun A

2 [Regression 221.386 2| 110.593 | 274.502 .000
Residual 111.700 519, 403
Total 333.086 279

a Predictors: (Constant), customer contact

b Predictors: (Constant), customer contact, labor intensity

¢ Dependent Variable: Managing flat hievarchy with loose subordinate-superior
relationships

Model Sum of df Mean E . Sig.
Squares Sauare
I [Regression 217.889 J 217,889 | 488.184 .000
Residual 124.079 278 446
Total 341.968 279 |

a Predictors: (Constant), labor intensity
b Dependent Variable: Cepital decision

T

Model Sum of df Mean F Sig.
Squares Square

1 Regression 214.375 i 214375 | 412.737 .000
Residual 144.393 278 319
Total | 358.768 279

2 [Regression 225.979 2 1 112,986 | 235.697 .000
Residual 132789 | 277 | 479
Total 358.768 279 |

a Predictors: (Constant), customer contact
b Predictors: (Constant), customer contact, labor intensity
¢ Dependent Variable: Technological advances



ANOVA

Model Sum of df Mean F Sig.
Squares Square
1 [Repression 169.729 [ 169.729 363.958 .000
Residual 129.643 278 466
[Total 299.371 279
a Predictors: (Constant), customer contacy
b Dependent Variable: Control of far-flung geographical location
Model . - Sum of df i Mean F Sig.
Squares | Square |
I [Regression 239.575 I 1 239575 | 645.769 | .000
Residual 103.136 | 278 | 371
Total 342.711 279 |
a Predictors: (Constant), customer contact
b Dependent Variable: Startup new units
Model Sum of df [viean E Sig.
Squares Square !
1 Regression 195.55¢ I 195,557 | 428.793 000
Residual 126,786 278 456
Total 322.343 279 |
a Predictors: (Constant), customer contact
b Dependent Variable: Managing growth
Model Sum of af Mean | F Sig
Squares Square |
1 {Regression 205,714 1 205.714 669.992 .000
1 [Residual 85,337 a2 J8 \f T A
Total 291.071 | 279 |
a Predictors: (Constznt), customer contact
b Dependent Variable: Gaining employee ioyalty
Model Sum of df | Mean | F Sig.
Squares Square_ |
1 IRegression 166.629 I 166.629 | 439.673 000
Residual 105.357 278 379
[Total 271.986 279
a Predictors: (Constant), customer contact
b Dependent Variable: Hiring
Model Sum of df Mean F Sig.
Squares Square
1 [Regression 197.232 ) 197,232 } 513.979 .000
Residual 106.679 278 384
Total 303.911 279

a Predictors: (Constant), customer contact
b Dependent Variable: Training




ANOVA

Model Sum of df Mean F Sig.
Squares Square
1 [Regression 225.004 ! 225.004 554,004 000
Residual 112.907 278 406
Total 337.911 279 -
a Predictprs: (Constant), customer contact
b Dependent Variabie: Employee welfare
Model Sum of df Mean Ir Sig.
Squares ' Square
1 [Regression 237.729 b 1 237728 | 569.51R .000
Residual 116.043 278 417
Total 353.771 279
a Predictors: (Constant), customer contact
b Dependent Variable: Scheduling workforces
Model Sum of df | Mean F Sig.
Squares | _Square
1 [Regression 148.629 ( 148.629 | 340.593 .000
Residual 121.314 278 435
Total 269.943 B,

a Predictors: (Constant), customer contact
b Dependent Variable: Managing demand to avoic peak and to promote off-peaks

Model Sum of df | Mean F Sig.
Squares Square
1 |Regression 235.889 1l 255,889 618.028 .000
Residual 105.107 278 | 382
Total 341.996 279

a Predictors: (Constant), customer coriact
b Dependent Variable: Managirg faidy rigid hiecarchy with need for standard

operating procedures

Model Sum of dt | Mean F Sig.
Squares Square

I [Regression 290.089 1 290.089 883.226 .000
Residual 91.307 278 _ 328
Total | 381.396 219

2 [Regression 291.664 2 | 145.832 | 450.179 .000
Residual 89.732 277 324
Total 381396 | 279 | .

a Predictors: (Constant), labor intensity
b Predictors: (Constant), labor intensity, custorner contact
¢ Dependent Variable: Fighting cost increases




ANOVA

Model Sum of df Mean F Sig.
Squares | _Square _
1 |Regression 197.232 | _197.232 | 429.154 000
Residual 127.764 278 460
Total 324.996 279 |
a Predictors: (Constant), customer contact
b Dependent Variable: Maintaining quality
Model Sum: of df Mean F Sig.
Squares Square
1 [Regression 294.175 1 294175 1 682.521 .000
Residual 119.321 278 431
Total 413.996 219

a Predictors: (Constant), customer contact

b Dependent Variable: Work methods development.and control




Coefficients

Unstandardized|Standardized 95% Contidence
Coefficients | Coefficients Interval for B |Collinearity Statistics
Model Std. ) Lower| Upper
B Error Beta t i Sig. 'Bauq_t_j.[_l}mmd Tolerance; _ VIF
I (Constang)| 6.150 | .129 47.827| .00C [ 5.897{ €.4C3
customer
contact  |-1.864| 081 -.809 -22.924] 000 |-2.024| -1.704 £.000 1.000
a Dependent Variable: Marketing
I Unstandardized [Standardized !95% Confidence
Coeflicients | Coeflficients Interval for B [Collinearity Statistics
Model Std. Lower] Upper
B Error Beta t Sig. |Bound| Bouund | Tolerancei VIF
1 (Constant)| 1.193 | .133 8.953 ; 0001 931 | 1435
Labor ]
intensity | 1.607 | .084 A 93 19.071] 000 { 14411 1.773 1.000 1.000
a Dependent Variable: Making service "warm"
B Unstandardized Standa rdized[ 195% Confidence
Coefficients | Coefficients Interval for B {Collinearity Statistics
Model Std. Lower| Upper
B Errvor Beta t | Sig. Bound| Bound | Tolerance| VIF
I (Constant)| 436 J23 3,532 400 194 677
customer
contact 2.071 | 078 .848 26.700] .000 ( 1.919} 2.224 1.000 1.000

a Dependent Variable: Scheduling service delivery

Unstandardized Standardized 95% Confidence
Coefficients | Coefficients Interval for B |Collinearity Statistics
Model Std. Lower| Upper
B Error Beta t Sig. [Bonnd| Bound | Tolerance VIF
I (Constant)| .686 110 6.20¢ | 000+ 468 503
customer
contact 1.964 | .070 .860 28.110) 00C { 1.827 | 2102 1.000 1.000
a Dependent Variable: Reacting to customer intervention in process
Unstandardized [Standardized l95% Confidence )
Coefficients | Coefficients Interval tor B |Collinearity Statistics
Madel Std, . Lower| Upper
B Error Beta t .| Sig. {Bound| Bound | Tolerance VIF
I (Constant)| [.393 | .124 11,243 .000 | [.149 ] 1.637
Customer
contact 1.486 | 078 | . 751 18.971] .000 { 1.332 | 1.640 1.000 1.000
2 (Constant)| 1.050 | .168 6.237 1 .000 % 719 | 1331
Customer .
contact 1.486 | .077 51 19.233 .000 | 1334, 1.638 1.000 1.000
fabor
intensity 229 077 116 2.959 { .000 | 077 281 1.000 1.000

a Dependent Variable: Managing advancement of people delivering service




Coefficients

Unstandardized
Coefficients

Standardized
Coeflicients

|95% Confidence
! Interval lor B

Collinearity Statistics

Model Std. Lower| Upper
B Error Beta t Sip, |Bound| Bound {Tolerance VIF

| (Constant)}| 1.057 | .i34 7.917(.000 | 794 | 1.320

Customer

contact 1.693 | .084 769 20.045[.000 : 1,527 1.§59 1.000 1.000
2 (Constant)| .682 181 3759 .000; 325 1 1.039

Customer

contact 1.693 | .083 769 20.332) 606G | 1,526 1.857 1.000 1.000

labor ‘

intensity 250 083 A4 3.002 .000[ N86 414 1.000 1.000

Dependent Variable: Attention to physical surrouadings

Unstandardized|Standardized 95% Corfidence
Coefficients | Coefficients | Interval for B |Collinearity Statistics
Model Std. Lower| Upper
B Error Beta t | Sie.  Bound| Bound |Tolerance| VIF
I (Constant){ 6214 | 121 51.479| .00 {1 5.977 [ 6.452
Customer )
contact -L771 | 076 -.812 ~23.202] 009 i-1.922] -1.621 | 1.000 1.020
2 (Constant)| 6.450 | .165 33,992 000 | 6.124 | 6776
Customer
contact -1.771 | .076 -812 -23.339 000 |-1.921] -1.622 £.000 1.000
labor
intensity -.157 076 -072 -2.070] .003 | -307 | -.006 1.000 1.000

[

Dependent Variable: Managin

g flat hierarchy witk loose subordinate-superior relationships

Unstandardized
Coeflicients

Standardized

T 95% Confidence
| Interval fer B

Collinearity Statistics

Coefficients |
Maodel Std, Lower! lipper
B Error Beta .t 1 5io, |Bound} Bovnd | Volerance| VIF
1 (Constant)| 6.136 1 .126 48.598] .000 | 5.887 | 6.384
Labor !
intensity 1-1.784| 080 -.798 -22.095,.000 }-l.‘).’;’!i -1.307 1.000 1.000

=)

Dependent Variable: Capital decision

Unstandardized
Cocfficients

Coefficients |

Standurdizcd‘

95% Confidence
_Interval for B

Collinearity Statistics

Model Std. Lower| Upper
B Error Beta ¢ Sigr. iBoundi Qound {Tolerance| VIF

| (Constant); 6.2856 | .136 46,051 000 1 6,018 &£.554

Customer

contact -1.750 ¢ 086 - 733 -20.316] .00 1-1.9201 -i.580 1.009 1.000
7 (Constant}| 6.896 | .180 38227 .LGG | 6541 7251

Customer t

contact -1.750 1 .083 =773 21147 000 [-1.e15| 1587 1.000 1.000

laber :

intensity | -407 | 083 -. 180 -4.920] .000 | -570 | -244 1.009 1.000

-

Dependent Variable: Technological advances




Coefficients

Unstandardized Standardized 95% Counfidence
Coeflicients { Caoeflicients :_Inverval for B |Collinearity Statistics
Model Std. Loweri Upper
B Error Beta t Sig. {Boundi RBound | Tolerance VIF
I (Constant)| 1.036 | .129 8.0251.000; 782 ¢ 1.290
customer
contact 1.557 | .082 753 19.078] .C00 | 1.596 1 1718 1.000 1.000
a Dependent Variable; Control of far-flung geographical location
Unstandardized |Standardized E% Contidence
Coefficients | Cocfficients | Interval for B |Collinearity Statistics
Model Std. Lower| Upper
B Error Beta t Sig, |Bound, Bound | Tolerance| VIF
I {(Constant)| .793 13 6.828 [ 000 | 566 | L1019
customer
contact 1.850 | 073 836 254127 .000 | 1,707 | 993 1.000 1.000
a Dependent Variable: Startup new units
Unstandardized [Standardized 95% Confidence
Coefficients | Coefficients Interval for B |Collinearity Statistics
Model Std. Lower{ Upper
B Error Beta t Sig. 'Bound| Bound |Tolerance] VIF
I {Constant)| 1.167 | .128 8.675|.000  .856 | 1358
customer
contact 1.671 | 081 779 207071 000 ) 1513 ] 1830 1.000 1.000
a Dependent Variable: Managing growth
Unstandardized |Standardized 63% Confidence
Cocfficients | Coefficients Interval for B (Collinearity Statistics
Std, Lower! Upner
Model B Error Beta t Siy. |Bound| Bound | Tolerance; VIF
1 {Constant)] 1.107 [ .105 10.573] .000 , 501 | 1,313
customer %
contact 1.714 | .066 841 125.884) GO0 1,584 | 1.845 1,000 1.000
a Dependent Variable: Gaining employee loyalty
UnstandardizediStandardized 95% Confidence]
Cocefficients  : Coeflicients Interval for B |Collinearity Statistics
' Sed. Lower| Upper
Model B Error Beta t Sig. |Bound! Beund | Tolerance| VIF
I (Constant)| [.393 | .ll6 L1.9721 .00C | 1.1e4 | L.162
customer
contact 1.543 | 074 783 20.968] 000 ; 1.398 | 1.688 1.000 1.000
a Dependent Variable: Hiring
Uns‘tandﬂrdized Standardized 195% Confidence
Coefficients | Coefficients Interval for B iCollinearity Statistics
Model Std. Lower! Upper
B Error Bera Sig. |Bound! Bound | Tolerance| VIF
[ (Constant): 6.000 [ .117 51,2521 .000{ 5.770 1 6.230
customer
contact -1.679| 074 -.806 -22.671] .000 |-1.824] -1.533 1.000 1.000

=)

Dependent Variable: Training




Coefﬁciénts

Unstandardized [Standavdized i‘JS" w Confidence
Cocfficients ' Coefficients [nterval for B |Collinearity Statistics
Model Std. Lower| Upper
B Error Beta £ Sig. Bonund| Bound ! Tolerance VI
1 (Constant)| .793 120 6.583 | .000 1 556 | 1.030
Customer '
contact 1,793 | .076 816 235371 000 ) 1642 | [.943 1.000 1.000
a Dependent Variable: Employze welfare
Unstandardized|Standardized 105% Confidence
Cocfficients | Coefficients ¢ _futerval for B_|Collinearity Statistics
Model Stid. Loweer| Upper
B Error Beta t Sig. |Bound]| Bonnd | Tolerance YIF
[ (Constant}| 6.236 | .122 51071 .000 ' 5995 T ¢.476
customer !
contact -1.843¢ .077 -.820 -23.865] .000 -1.995[ -1.691 1.000 1.000
a Dependent Variable; Scheduling workforces
Unstandardized [Standardized’ 93% Conlidence
Coefficients | Coefficienty : . Interval fer B |Collinearity Statisties
Model Std. Lower| Upper
B Error Beta t Siz, [Bound| Bound [Tolerance VIF
I (Constant)| 1.400 | .125 11.214) 0001 1.154 | 1.646
customer
contact 1.457 | 079 742 18.455] .000 | 1.302 [ 1.613 1.000 1.000
a Dependent Variable: Managing demand to avoid peak and to promote of -peaks
Unstandardized [Standardized 5% Conlidence
Coefficients | Coellicients [nterval forr B |[Collinearity Statistics
Model Std. Lower| Upper
B Error Beta t Sig. |Bound| Bound [{Tolerance VIF
1 (Constant)| 6.257 | .117 33.593(.009 | 6.027 | 6.487
customer
contact -1.8361 .074 -.831 -24.860] .000 —1.98[1 -1.690 1.000 1.000

a Dependent Variable: Managin

g fairly rigid hiecarchy with need for srandard operating procedures

Unstandardized [Standardized| 5% Corfidence
Coelficients | Cocflicients | baterval for B (Collinearity Statisties|
Model Std. Lower| Upper
B Error Beta t Sig. |Boundj ¥ound |Tolerance| VIF
I (Constant)| 6.650 | .108 61.400| .000 | 6.437 | 6.383
Labor
intensity 1-2.036 ] 068 -.872 F29.719] .000 |-2.171] -1.901 1.000 1.000
2 (Constant)| 6.425 | 148 2335 00616133 &.7.7
Labor
intensity | -2.036 | .068 -872 =29.925 000 :-2.170) -1.902 1.000 1.000
Customer
contact 150 068 064 220580001 016 %84 1,006 1.000

a Dependent Variable: Fighting cost increases




Coefficients

Unstandardized|Standardized

5% Conlidence
Coefficients | Coefficients

faterval for B |Collinearity Statistics
Model Std. Lower| Upper
B Frror Beta t Sig. iBovnd| Bound | Tolerance VIF
I (Constant)| 6.121 128 47.730] .000 { 5.809 | 6.374
customer !
contact 1.679 | .08l 779 20,716 .OOOLI.S.‘SS 1.519 ¢t 1.000 1.000
a Dependent Variable: Maintaining quality
Unstandardized [Standardized -l‘_J_S"u Confidence
Coefficients | Coefficients Interval for B |Collinearity Statistics
Model Std. Lower| Upper
B Error Beta t Sig. iBound| Round | Tolerance VIF
1 (Constant)| 6.571 124 £2.966( .000 | 5.327 | 6.816
customer
contact 2.050 ] .078 843 26.125] .000.12.204 | 1.396 1.000 1.0600
a Dependent Variable: Work methods developmeni and cortrol



Excluded Variables

Collinearity Statistics
Pavtial Minimum
Model Betaln| t | Sig. ! Correladon| Tolcrance VIF__ |Tolerance
1. labor intensity | 053 11496; 136 | .09 1.000 1.000 1.000

a Predictors in the Model: (Constant), customc,r contact
b Dependent Variable: Marketing

_Collincarity Statistics

Partial Mintmum
Model Betaln| t | Sig, | Correlafion| Tolerance VIF Tolerance
1. customer centact; .057 {1.4441 .150 | 085 1.000 1.000 1.000

a Predictors in the Model: (Constant), labor intensity
b Dependent Variable: making service "warm"

Collinearity Statistics
Partial Minimum
Model Betaln| t | Sizg. | Correlation| Tolerance VIF Tolerance
1. labor intensity | -.035 +1.105] .270 -.060 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer contact
b Dependent Variable: Scheduling service delivery

- Collinearity Statistics
Partial Minimum
Model Betaln| t | Sig. | Correlation| Tolerance VIF | Tolerance
1. labor intensity | 009 |.306(.760 ; 018 _1.000 1.000 1.000

a Predictors in the Model: {Constant), customer contact

b Dependent Variable: Reacting to customer intervention in process

Collinearity Statistics
Partial Minimum
Model BetaIn| t | Sig. | Correlation]| Tolerance VIF Tolerance
1. labor intensity | 116 12.959|.0603 | .173 1.000 1.000 1.000

a Predictors in the Model: (Constant}, customer contact
b Dependent Variable: Managing advancement of people delivering service

Collinearity Statistics

Partial Minimum
Model Betaln| ¢ Sig. | Correlation | Tolerance VIF Tolerance
1. labor intensity {  .114 [3.003] .003 - 178 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer confact
b Dependent Variable: Attention io physical surroundings

a Predictors in the Model: (Constant), custemer contact

b Dependent Variable: Managing flar hierarchy with loase suberdinate-superior

relationships

__Collinearity Statistics
Partial Minimum
Model BetaIn| t | Sig, |Correlation | Tolerance VIF Tolerance
1. labor intensity | -.072 [-2.070! .039 - 123 _1.060 1.000 1.000




Excluded Variables

| Collinearity Statistics
Partial Minimum
Model BetalIn| t | Sig, | Correlation; Tolerance VIF Tolerance
1. customer contact| -.016 {-.447]|.665 -.027 1.000 1.000 1.000

a Predictors in the Model: (Constant), labor intensity
b Dependent Variable: Capital decision

B | Collinearity Statistics
Partial ' Minimum
Model Betaln| t | Sig. |Cerrelation| Tolerance VIF | Tolerance
1. labor intensity | -.180 |-4.920] .000 -.283 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer cortact

b Dependent Variable: Technological advances

Collinearify Statistics
Partial Minimum
Model BetaIn| t | Sig. |Correlation| Tolerance VIF | Tolerance
1. labor intensity | .062 11.579[.115 094 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer centact

b Dependent Variable: Control of far-flung geographical location

Collinearity Statistics
Partiai Minimum
Model BetaIn| t | Sig. |Correlation| Toferance VIF __ {Tolerance
1. [abor intensity | .029 [ .883 | .378 053 1.000 1.000 1.000

a Predictors in the Model: (Constant}, customer contact

b Dependent Variable: Startup new units

. Collinearity Statistics
Partial Minimum
Model Betaln| t | Sie, |Correlativn| Tolerance VIF Tolerance
1. labor intensity | -.053 |-1.418 .157 -.085 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer contact

b Dependent Variable: Managing growth

Collinearity Statistics
Partial Minimum
Model BetaIn|. t | Sig. |Correlation| Tolerance VIF _ |Tolerance
1. Jabor intensity | 021 | .646.519 039 i.C00 1.000 1.000

a Predictors in the Model: (Constant), customer contact

b Dependent Variable: Gaining employee loyalty

. Collinearity Statistics
Partial Minimum
Model Betaln| t | Sig. |Correlation| Tolerance VIF | Tolerance
1. labor intensity | -.051 |-1.361 .175 -082 1.0C0 1.000 1.600

b Dependent Variable: Hiring

a Predictors in the Model: (Constant), customer contact




Excluded Variables

Collinearity Statistics
Partial Minimum
Model Betaln| t | Sig. | Correlation | Tolerance VIF | Tolerance
L. labor intensity | -.038 |-1.061] 289 -.064 1.000 1.000 1.000

a Predictors in the Model: (Constant}, customer contact

b Dependent Variable: Training

Collinearity Statistics
Partial Minimum
Model Betaln| t Sig. | Correlation | Tolerance VIF Tolerance
[. labor intensity | .010 | .281 | .779 017 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer coatact
b Dependent Vartable: Employee welfare

Collinearity Statistics
Partial Minimum
Model Betalni t Sig. | Correlation! Tolerance VIF Tolerance
1. labor intensity | 025§ 739 | .460 044 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer contact

b Dependent Variable: Seheduling workforces

Collinearity Statistics

Partial Minimum
Model Betaln! t | Sig. |Correlation| Tolerance VIF Tolerance
1. labor intensity | 029 |.723 | 470 045 ¢ L aD 1.000 1.000

a Predictors in the Medel: (Constant), customer contast

b Dependent Variable: Managing demand to aveid peak and te promote off-peaks

Collinearity Statistics

Partial Minimum
Model Betaln| t | Sig. |Correlation]| Tolerance VIF Tolerance
1. fabor intensity | .042 11.259| .209 S p1oVR 695000 1.000 1.000

a Predictors in the Model: (Constant), customer consact

b Dependent Variable: Managing fairly rigid hizrarchy with nz2ed for standard
P SH1E ¥ g
operating procedures

Collinearity Statistics
Partial Minimum
Model ' |Betaln| t | Sig. Correlation | Tolerance VIF Tolerance
1. customer contacty .064 |2.2051 .028 U351 1,000 1.000 1.000

a Predictors in the Model: (Constant), labor intersity
b Dependent Variable: Fighting cost increasss




Excluded Variahles

Collinearity Statistics

Partial Minimum
Model Betaln| t | Sig. |Correlation) Tolerance VIF __{Tolerance
1. labor intensity | .070 [1.859] .064 Bl 1.000 1.000 1.000

a Predictors in the Model: (Constant), customer contact

b Dependent Variable: Maintaining quality -

Collinearity Statistics

Partiul Minimum
‘ Model Betaln| t Sig. | Correfation| Tolsrance VIF Tolerance
1. labor intensity | 009 |.273 | .785 | 015 1.000 1.000 | 1.000

a Predictors in the Model: (Constant), customer contact

b Dependent Variable: Work methods development and control




Residuals Statistics

Minimum | Maximum Mean Std. N
_ i Deviation
Predicted Value 2.42 4.29 335 | .93 280
Residual -1.42 1.58- -3.05E-16 68 280
Std. Predicted Value|  -998 998" 000 1.00 280
Std. Residual -2.089 2 000 998 280
a Dependent Variable: marketing
Minimum ; Maximum Mean Std. N
| Deviation
Predicted Value 2.80 441 3.60 81 280
Residual -2.41 1.20 -161E-17 .70 280
Std. Predicted Value| -998 998 .006 1.000 280
Std. Residual -3.414 1.702 . .0Co 998 280
a Dependent Variable: making service "warm"
Minimum | Maximum Mean Std. N
Deviation
Predicted Value 2,51 4.58 — 1.04 280
Residual -1.58 1.4¢. 2.92E-16 65 280
Std. Predicted Value]  -.998 93 000 1.000 280
Std. Residual | -2.432 _2.300 00 oo & 998 280
a Dependent Variable: Scheduling service delivery
Minimum | Maximum | Mean | = Std. N
Deviation
Predicted Value 2.65 4.61 363 98 280
Residual -.65 285 2.54E-17 58 280
Std. Predicted Value|  -.998 998 000 1.000 280
Std. Residual -1.112 4.020 L0000 998 280
a Dependent Variable: Reacting to customer intervantion in process
Minimum | Maximum l Mean Std, N
: | Deviation
Predicted Value 2.76 4.48 3.62 73 280
Residual -1.99 1.24 S1I7E-1T | 64 280
Std. Predicted Value:  -1.138 1.138 000 T 1.000 280
Std. Residual -3.084 1.912 D00 1 996 280
a Dependent Variable: Managing advencement of people delivering service
Minimum | Maximum Mean Std. N
; Deviation
Predicted Value 2.63 457 1 3.60 .86 280
Residual -2.57 2.15 -1.59E-17 .69 280
Std, Predicted Value| -1.133 1.133 000 1 1.000 280
Std. Residual -3.686 3.05G 000 | 996 280

a Dependent Variable:

Attention io physical surroundings




Residuals Statistics

Minimum | Maximun: { Mean Sid. N
Deviation
Predicted Value 2.59 4.52 3.56 .89 280
Residual -1.52 1.41¢ -1.65E-16 63 280
Std. Predicted Value! -1.083 1.083 .000 1.000 280
Std. Residual -2.396 2.216 000 996 280

a Dependent Variable: Managing fiat hierarchy with loose subcerdinate-superior relationships

Minimum | Maximum f Mean Std. N
] Deviation
Predicted Value 2.61 437 3.49 88 280
Residual -3.37 1.39 -1.40E-16 67 280
Std. Predicted Value| -.998 998 000 1 1.000 280
Std. Residual -5.046 2.085 000 | 598 280
a Dependent Variable: Capital decision
Minimum | Maximum Mean Std. N
. Deviation
Predicted Value 2.58 474 1 366 TL 90 280
Residual -1.74 2.01 -5.39E-16 .69 280
Std. Predicted Value| -1.198 1198 | 000 | 1009 280
Std. Residual -2.512 2904 1 000 996 280
a Dependent Variable: Technological advances
Minimum | Maximum | Mean Std. N
3 Deviation
Predicted Value 2,59 4.135 R W .78 280
Residual -2.15 141 -L2TE-17 | .68 280
Std. Predicted Value| -998 998 000 1.000 280
Std. Residual -3.148 2061 ; 10.600 998 280
a Dependent Variable: Control of far-flung geographical location
Minimum | Maximum Mean Std. N
i Deviation
Predicted Value 2.64 4.49 3.7 93 280
Residual -1.49 1.36 -2.03E-16 61 280
Std. Predicted Value| -.998 998 .000 1.000 280
Std. Residual -2.451 2.228 000 998 280
a Dependent Variable: Startup new units
Minimum | Maximnm IVlean Std. N
Deviation
Predicted Value 2.78 4.45 _3.61 .84 280
Residual -1.43 222 1.17E-16 67 280
Std. Predicted Value| -.998 998 .000 1.000 280
Std. Residual -2.147 3.289 000 1 998 280

a Dependent Variable:

Managing grcwth




Residuals Statistics

Minimum | Maxitnum {  Mean Std. N
; Deviation
Predicted Value 2.82 4.54. 3.68 86 280
Residual -.82 i.13 1.99E- 16 .55 280
5td. Predicted Value;  -.998 998 .000 1.000 280
Std. Residual -1.482 2.127 000 | 998 280
a Dependent Variable: Gaining emnployee loyalty
B Minimum | Maximiam , Mean | Std. N
. , Deviation
Predicted Value 2.94 4.48 3.71 7 280
Residual -1.94 .06 -7 A7E-15 61 280
Std. Predicted Value]  -.998 998 .000 1.000 280
Std. Residual -3.144 1.729 000 998 280
a Dependent Variable: Hiring
Minimum | Maximum |  Mean Std. N
! _Deviation
Predicted Value 2.64 4.32 348 | .84 280
Residual 7132 136 | 3.81E-16 | .62 280
IStd. Predicted Value]  -.998 998 .000 1.000 280
Std. Residual -2.133 2,154 000 .998 280
a Dependent Variable: Training
B Minimum | Maximum | Mean Std. N
Deviation
Predicted Value 2.59 438 | 348 90 280
Predicted Value 2.59 438 | 348 90 280
Residual -1.38 1.41 | 1.59E-16 | 64 280
Residual -1.38 1.41 | 1.59E-16 | 64 280
Std. Predicted Value|  -.998 998 ___.000 1.000 280
Std. Predicted Value|  -.998 998 000 7 1.000 280
Std. Residual -2.163 321 000 | 998 280
Std. Residual -2.163 2219 | 000 | 998 280
a Dependent Variable: Employee weifare
Minimura | Maximum | Mean ‘ Std. N
. Deviation
Predieted Value' 2.55 439 347 192 280
Residual -1.39 1.45 -3.238-16 , .64 280
Std. Predicted Value!  -.998 998 00C | 1.000 280
Std. Residual -2.156 2.244 000 1 998 280
a Dependent Variable: Scheduling workforces




Residuals Statistics

‘Minimum | Maximum Mean Std. N

| _| Deviation
Predicted Value 2.86 431 1 3.59 73 280
Residual -1.31 2.14 -4 44E-17 .66 280
Std. Predicted Value -.998 998 .0C0 1.000 280
Std. Residual -1.990 3243 | .000 .998 280

a Dependent Variable

: Managing demand to avoic peal: and to promote off-peaks

Minimum | Maximum Mean Std. N
B Deviation
Predicted Value 2.59 4.42 3.50 .92 280
Residual -1.42 1.41 4.57E-16 1 .62 280
Std, Predicted Value -998 998 .000 1.000 280
Std. Residual -2.301 2.289 000 998 280

a Dependent Variable: Managing fairly rigid hierarchy with need for standard

operating procedures

{ Minimum | Maximum | Mean Std. N
Deviation
Predicted Value 2.50 469 | = 3.60 1.02 280
Residual -1.54 1.50 -3.24E-16 37 280
Std. Predicted Value]  -1.069 1.069 __.000 1.000 280
Std, Residual -2.704 2.629 0C0 996 280
a Dependent Variable: Fighting cost incrzases
Minimum | Maximuvm | Mean Std. N
. Deviation
Predicted Value 2.76 .44 3.60 .84 280
Residual -1.76 2.24 247E-16 | .68 280
Std. Predicted Value;  -.998 998 _.000 1.000 280
Std. Residual -2.602 3.298 .00C 998 280
a Dependent Variable: Maintaining qualicy
. Minimum | Maximum | Mean Std. N
' Deviation
Predicted Value 2.47 4.52° 3.50 1.03 280
Residual -1.52 1.53 | -4.57E-16_ 66 280
Std. Predicted Value|  -998 998 000 ' 1.000 280
Std. Residual -2.317 2328 000 1998 280

a Dependent Variable

. Work methods development and control
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Normal P-P Plot of Regression Standardizec Residua

Dependent Variable: marketing

1.00 ﬂ
Mm

75 «

50
Q 3 \
= AR SO AT XS
£ o s
=
O -
io]
kL .
<) -
5
1] 000 iuihsom N4

0.60 25 50 75 1.00

Observed Cum Prob

PRV s d



Normal P-P Plot of Regression Standardized Residua

Dependent Variable: making service "warm”
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cl Library, Au

Normal P-P Plot of Regression Stanclardized Residua

Dependent Variable: Scheduling service delivery
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Normal P-P Plot of Regression Standardized Residua

Dependent Variable: Managing advancement of peopl
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Normal P-P Plot of Regression Standardized Residual

Attention to physical surroundings
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Normal P-P Plot of Regression Standardized Residua

Dependent Variable: Managing flat hierarchy with loost
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Normal P-P Plot of Regression Standardized Residua

Dependent Variabla: Capital decision
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Normal P-P Plct of Regression Standardized Residua

Dependent Variable: Technological advances
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Normal P-P Plot of Regression Standardizec Residua

Dependent Variable: Centrol of far-flung geographical
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Normal P-P Plot of Ragression Standardized Residua

Dependent Variable: Startup new units
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Normal P-P Plot of Regression Stanclardized Residua

Dependent Variable: Managing growth
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MNormal P-P Piot of Regression Standardizec Residua

Dependent Variable: Gaining employee loyalty
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Normal P-P Plot of Regression Standardized Residua

Dependent VVariable: Hiring
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Normal P-P Plot of Regression Standardizec Residua

Dependent Variable: Training
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Normal P-P Plot of Regression Stanclardized Residua

Dependent Variable: Employee welfare
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St. Gabriel Library, Au

Normal P-P Plot of Regression Standardized Residua

Dependent Variable: Scheduling workforces
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Normal P-P Plot of Regrassion Standardized Residua

Dependent Variable: Managing demand to avoid peak
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Normal P-P Plot of Regression Standardized Residua

Dapendent Variable: Managing fairly rigic hierarchy wit
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Normal P-P Plot of Regression Standardized Residual

Expected Cum Prob
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Normal P-P Plot of Regression Standardizec Residua

Dependent Variable: Maintaining quality
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Normal P-P Plot of Regression Standardized Residua

Dependent Variable: Waork mathods development and
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APPENDIX C



Glossary

Vocabulary

Definition

Average hours worked

Customer contact

Employment rate

Labor intensity

Labor force participation

Management challenges

Mass service

Professional service

Service

Service customization

Service factory

Service shop

The number of hours the average employed person
works in a week.

Is a process describing the minimum level of contact
actually needed to obtain service in‘each instance.

The percent of all participants in the labor force who
are employed.

Is a measure of how hard a population is working. It is
determined by 3 factors that are labor force
participation rate, employment rate and average hours
worked.

[s the percentage of people of working age who are in
the labor force. '

Is the quality requiring the very best of one’s abilities
and efforts. It involves an element that brings
coordination or cohesiveness to the activity.

Are characterized by high labor “intensity in
combination with low customer contact/customization.
Service involving high customer
contact/customization as well as a high degree of labor
intensity.

Is frequently an intrinsic part of the package of
benefits offered to the customers.

Involves fit and alterability and is based on
understanding the commonality and variablility across
customers.

Service with both low customer contact/customization
and a low degree of labor intensity.

Service with low labor intensity but high customer

contact/ customization.
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